Notations:

1.0ptions shown in green color and with v icon are correct.
2.0ptions shown in red color and with = icon are incorrect.

Question Paper Name:
Subject Name:
Creation Date:
Duration:

Total Marks:

Display Marks:

Share Answer Key With Déelivery
Engine:

Actual Answer Key:
Calculator:

Magnifying Glass Required?:
Ruler Required?:

Eraser Required?:

Scratch Pad Required?:

Rough Sketch/Notepad Required?:
Protractor Required?:

Show Watermark on Console?:
Highlighter:

Auto Save on Console?:

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :
Section Number :

Education Consultant India Ltd.

WARDER 27th June Shift2

WARDER

2019-06-27 16:26:43

120

200

Yes

No

Yes

None

No

No

No

No

No

No

Yes

No

No

Mental Ability1
1
49795931
0
0
No
No
0
20
No
Yes
0
0
Mental Ability1

49795931

1



Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 49795937
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 497959607 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the letter cluster that is related to the third letter cluster in the same way as the second letter cluster is related to
the first letter cluster.

RUY : TWA :: CF1:.?
Options:

1. « DHL

7 % FHK

3 « EHL

4 % EHK

Question Number : 1 Question Id : 497959607 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 3T THE &1 9440 H{ S ArE W THE ¥ 3E HE W T § FW TET 3N WHE T8 BN
THE ¥ FEOT Bl

RUY : TWA :: CFJ : 7

Options:

1. « DHL

2.« FHK



3. « EHL

4. % EHK

Question Number : 2 Question Id : 497959608 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the term that is related to the third term in the same way as the second term is related to the first term.

FH:42 :HI:?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 70

Question Number : 2 Question Id : 497959608 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3F UE IO B A A 98 & 3 IR § #efod & SF IR ¥ g5 9E e 9% ¥ sfua B

FH: 42 - Hl =%

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. 70



3. 74

4. 76

Question Number : 3 Question Id : 497959609 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the word that is related to the third word in the same way as the second word is related to the first word.

Lock : Safety :: Pen: ?
Options:
1. » Stationary

? % Pencil

3 » Writing

4 % Book

Question Number : 3 Question Id : 497959609 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 U FH TIS F FAT SR UG ¥ 3N TRE FAOT § AY GET UK TgA e ¥ HEAT gl

el : JIaT 9T : ?
Options:

1. » TART



Question Number : 4 Question Id : 497959610 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Select the number that is related to the third number in the same way as the second number is related to the first number.
Q:70::10:7

Options:

1. % 102

3. % 100

4 % 119

Question Number : 4 Question Id : 497959610 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 HEAT & 904 F{ A ArE TEA ¥ 3H RWE TaOT § AW GO A Tger AT ¥ AT gl

9:79:10:7
Options:

1. & 102



2. v 98
3 % 100

4. x 119

Question Number : 5 Question Id : 497959611 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the figure that is related to the third figure in the same way as the second figure is related to the first figure.

A

-J

1

Options:

M @M @ o



4, x

Question Number : 5 Question Id : 497959611 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

37 T &1 Toa & S I B ¥ 30 o ¥ w9fag § 9 guw o uge oy ¥ 56T 2

A

1 2 3 4

Options:

"

A
: : 4 ¢

Question Number : 6 Question Id : 497959612 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
Pick the odd one out.
Options:

1. ® Mustard Seeds

? » Spices

3. & Cumin

4 = Clove

Question Number : 6 Question Id : 497959612 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 O 5 BYH ¢ 38 3o T &Y

Options:

1. = W@ & &=

2_gm
3. = =T
4, « @b

Question Number : 7 Question Id : 497959613 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the odd triad from among the given number triads.

Options:
1. % 7.49,56



&

b

I:JI

[

.36, 42

4.8

Question Number : 7 Question Id : 497959613 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feT 717 T B (3oE) # ¥ A IEE # 9g=E|

Options:

1w 7,49, 56
5« 8, 38, 42
3 & 5 25 380
4, v 24,8

Question Number : 8 Question Id : 497959614 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the odd one from the given group of numbers.

Options:
1. = 11
2 = 17

19

#



4'\; 21

Question Number : 8 Question Id : 497959614 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FEOTAT F feU 71T TAg & HeWT WHE H UEAATI

Options:
1. &
5 & 17
3 x 19
4. v 21

Question Number : 9 Question Id : 497959615 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Four figures marked 1. 2, 3 and 4 are given below. Three of the given figures are similar in a certain manner while one

figure is not like the other three. Choose the figure which is different from the other figures.

1 2 3 4

Options:

1. = 1

#
I

2



bb.
®
L

Question Number : 9 Question Id : 497959615 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fe R R RrsviGE 1, 2 334 o PRaa B g R ow B # @ 9= & oar
e soR Fr FAEE W § 9 F3 oF @y i 99 # e 81 o9 B oI S e R w
37T &

1 2 3 4

Options:

1. & 4

Question Number : 10 Question Id : 497959616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the given figure is folded to form a cube, which number will appear on the face opposite the face with the number 1

on it?

5 4 2

Options:

1. = 2



Question Number : 10 Question Id : 497959616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofg foeet agfa & ol o= 79 & T #igr o 8, & v 1 F Rgle wee & 5@ ) o @
T s &=

5 4 2
3
6
1
Options:
L w2
2. v 3

Question Number : 11 Question Id : 497959617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Three different positions of the same dice are shown below. Which number is on the face opposite the face showing the
number 47

Options:
1.« 1

Question Number : 11 Question Id : 497959617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

= v & 9 & @i areE-aeer Rufaet & gefar mar 31 S ewr 5w 4 T @ § sEs Rude
TS & HE W HA q T g

i

Options:

1. ¢ 1



Question Number : 12 Question Id : 497959618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the correct mirror image of the given figure when the mirror is placed to its right side.

&
1 » K=

Question Number : 12 Question Id : 497959618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



IR A T ar R SRS IR @ IT A RT I R A BR T o sh) R A
i dr gri?

<

Options:

Question Number : 13 Question Id : 497959619 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Identify the correct water image of the given figure.

RESTORATION

Options:



1. « AECRLOAVLIOWN

7 » JESTOHATION
3 » BERLOBVYL1ION

4.« BERLOBUNOITA

Question Number : 13 Question Id : 497959619 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

= fow v Ry Fr T T 337 (ST o) & e
RESTORATION

Options:

1. « AECLOAVLIOU

2. « JESTOHATION
3. » BECQLOBVLION

4. « BERLOBEWOITA

Question Number : 14 Question Id : 497959620 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

Given here is a transparent piece of paper with some patterns on it. How would the paper appear when it is folded along
the dotted line?




Options:

Question Number : 14 Question Id : 497959620 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬁhmwﬁmwwm(ﬁa&)aﬁg%msﬂaﬂzaﬁﬁwma:m—wma
T o ofe e v #r fmE e

Options:



Question Number : 15 Question Id : 497959621 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Which of the following figures in the options will replace the question mark (?) in the given figure to complete the

pattern?




2. o B
-4
1« B4

Question Number : 15 Question Id : 497959621 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A= G o R A, By F e & U e # Br Taf@e # ¥ a9 @ Feer wa few () =

Options:

N X

)
XS

Question Number : 16 Question Id : 497959622 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



In the Venn diagram given below. the square represents ‘boys’. the circle represents ‘singers’ and the pentagon
represents ‘part-time workers’. The numbers given in the diagram represent the number of persons of that particular

category.

How many boys are singers but NOT part-time workers?

Options:

Question Number : 16 Question Id : 497959622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S T AT 39 I F, T 'TEe F AT §, IF I F giar § AR TuiT e e
T gefar g1 3@ # & 2 Eear 39 39w Avh ¥ cufegar fr e St g

Fa

o o= us g ST e FIHE F87 87

Options:

T. = 15




2.« 18

Question Number : 17 Question Id : 497959623 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

Vaidehi starts walking from her shop and goes 65 m towards the east. From there, she turns right and walks 25 m. After
that, she turns left and walks 15 m. Then, she turns left and walks 40 m. She then finally turns left and walks 80 m. How
far is she now from her shop and in which direction with reference to her shop?

Options:
1. & 5m North

? « 15m. North

3 % 15m, South

4. » 25m, South

Question Number : 17 Question Id : 497959623 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

ﬁéﬁmﬁrcﬁamﬁucﬂm %ﬁm%ﬁ?ESmﬁﬁmm%Iaﬁﬁﬁmﬁﬁm%ﬁ%
m % T g 3HF &G, Ig AT Az ¢ 3R 15 m TE gl Y, I 0 gEehr § 3K 40 m T
T2 T a7 o § X 80 m T+ B1 TF e g ¥ freet oy € 3N el g & wWest 7 TR
frar 7 &7

Options:

"I_g;é ZEmH




2 ¢ 159 m, 3cR

3. % '15m,E;'|7&'3('U'E'

4_ % 25 m,aﬁ%-UT

Question Number : 18 Question Id : 497959624 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

At the time of sunrise. Kartik and Pivush are sitting facing each other. If the shadow of Kartik falls to the left of Piyush.
then which direction is Piyush facing?

Options:

7w West

4. = South

Question Number : 18 Question Id : 497959624 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Jifew & §AT, Fids AR IG¥ TF gAY & ’HA F@AS 385 g1 I Ffaes Fr orr 99y F a8 dA%
user ¢, & 9w fRm feam 1 3R Hg % Sar 77

Options:



Question Number : 19 Question Id : 497959625 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

There are six friends, Aslam, Pritam, Vilas, Sukumar, Mrinal and Ojaswi. Aslam is elder than Pritam. but younger than
Vilas. Sukumar is elder than Aslam, but younger than Vilas. Mrinal is younger than Aslam, but elder than Pritam.
Ojaswi is elder than Sukumar, but younger than Vilas. Who is the second youngest in the group?

Options:
1. % Pritam

? % Aslam

3. « Mrinal

4 % Suvkumar

Question Number : 19 Question Id : 497959625 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oF 35T g, 30eH, 9aA, Few, geean, qune R e awes daw ¥ 997 & dfea e &
BIET ¥ GFAR 30eH ¥ 97 g, Al Femw & oler 81 JUTe 3WaH ¥ o g, dfes Slan § a9 g
ST GFAR ¥ §97 g, Afoha e & oeT ¥ §6g # R 998 AT AT oI ST 87

Options:

1. = 9aH

72 w HOAH



3, o e

e

Question Number : 20 Question Id : 497959626 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

Arpita, Kripal. Amit and Vinod each play one of the four games i.e. Cricket, Snooker, Golf and Carom. Arpita does not
play Carom and Golf. Kripal does not play Cricket and Golf. Vinod does not play Snooker or Golf. Which game is
played by Amit?

Options:
1. % Cricket

? % Snooker

3. # Carom

4 « Golf

Question Number : 20 Question Id : 497959626 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

#an, Furer, EE AR e gow 9R @9 T e, =, TeT dHR & # ¥ dem £
Har & AR Tew G Qe g1 g Ghee AR Tew FE e g el T am e @
ST g1 AT FiF 9 TF T 27

Options:

1. = Thee




Mental Ability?2

Group Number : 2
Group Id: 49795932
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Mental Ability2

Section Id : 49795932
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 49795938
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 497959627 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
The flights for four cities — Chennai, Delhi, Hyderabad and Mumbai — take off from four terminals T-1, T-2, T-3 and T- 4.

The flight for Chennai leaves from T-1. The flight for Hyderabad does not leave from T-2 or T-4. The flight for
Mumbai does not leave from T-4. Which flight takes off from T-27

Options:



1. «+ Mumbai

? % Delhi

3. # Either Mumbai or Delhi

Either Delhi or Chennai

-
%

Question Number : 21 Question Id : 497959627 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TX R oAz, fowe, dewrEe AR HES ¥ T 33 AR ffme T-1, T-2, T-3 d#RK T4 & 33 e
gl Tt F foU wemse T-1 & &= 21T g1 gevane & forw 331 T-2 o1 T-4 & 81 fwerdr g1 J95 F
T 351 T-4 ¥ 78 Rehadr g1 T2 T Fid O 3317 Aeerar 272

Options:

{, v T%

2.« R

3 I a1 JEg T e

4. « A fEee O Aeag

Question Number : 22 Question Id : 497959628 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The following are the criteria set by an FMCG company for the selection of candidates for the post of Sales Manager:
1. The candidate must have a Master of Business Administration (MBA) in the Marketing discipline.
2. The age of the candidate should not be less than 28 years and not more than 35 years as on 1 April 2019.
3. The candidate must have at least four years’ work experience as a Sales Representative.

(a) If a candidate satisfies all the criteria except criteria no. 2 as given above, but is willing to fill a bond of not
leaving the job for at least one vear, she/he must be sent to the Head (Marketing) for further interview.

(b)If a candidate satisfies all the criteria except criteria no. 3, but has secured more than 80% marks in MBA, then
the candidate must be sent to the Senior Sales Manager for further interview.

The details of a candidate are given below. You have to take one of the following decisions based on the information
provided and the conditions and sub-conditions given above. Do not assume anything other than the information

provided in the question.

Ravi has completed his MBA in the Marketing discipline with 72% marks. He has five years of work experience as a
Sales Representative. He was born on 28 March 1990.

Options:
1. «+ The candidate is to be selected.

2 % The candidate is to be rejected.

3 The candidate is to be sent to the Head (Marketing) for further interview.

4. » The candidate is to be sent to the Senior Sales Manager for further interview.

Question Number : 22 Question Id : 497959628 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



Options:
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4« 3FHEEAR F AET F FETFR & fow acs Tew AR F 99 &9 =T g

Question Number : 23 Question Id : 497959629 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The following are the criteria set by an FMCG company for the selection of candidates for the post of Sales Manager.
1. The candidate must have a Master of Business Administration (MBA) in the Marketing discipline.
2. The age of the candidate should not be less than 28 years and not more than 35 years as on 1 April 2019.
3. The candidate must have at least four years’ work experience as a Sales Representative.

(a) If a candidate satisfies all the criteria except criteria no. 2 as given above, but is willing to fill a bond of not
leaving the job for at least one vear, she/he must be sent to the Head (Marketing) for further interview.

(b) If a candidate satisfies all the criteria except criteria no. 3, but has more than 80% marks in MBA, then the
candidate must be sent to the Senior Sales Manager for further interview.

The details of a candidate are given below. You have to take one of the following decisions based on the information
provided and the conditions and sub-conditions given above. Do not assume anything other than the information

provided in the question.

Deepika has completed her MBA in Marketing with 78%. She was born on 17 July 1989. She has two years of work
experience as a Sales Representative.

Options:
1. # The candidate is to be selected.

? . The candidate is to be rejected.

3 » The candidate is to be sent to the Head (Marketing) for further interview.

4. » The candidate is to be sent to the Senior Sales Manager for further interview.

Question Number : 23 Question Id : 497959629 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Tod HasK & 9 & fov 37Acany & 994 & TOT UF UHUAAET F94T ZanT
T Aaees A=afat@a g
1. 3FAIGaR & 9T AmhiedT AT #H AR H% eaw vsfAfAwa= (MBA) @&
e
2. 1 3%e 2019 & 37HgaR #r 31y 28 a¥ & FH AR 35 a¥ F 3% & =
=g
3. 3FHIGAR & TH Ted NUeefed & § # 87 ¥ &7 97 T & FA 35T
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AAES W FAAT &, Afhd 3TF THAC FH 80% ¥ 3w 3% € O sEAeER &
HE & TETHR (37=y) F ow aitss Tow d3ds) & 9 &7 JA=7 TRT)
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& A 78% % WY ARRCT # MBA T BT 81 W SeA 17 Jas 1989 &
g3 Tl 30 VoW Rysiefed & &9 & aF 9 &7 1 e 2

Options:

1. « 3FHIGaR & =9 f&har ST 2

2 o 3FEER F EEREEE wT I s g

9y 3FHIGAR F AET F WETHR & [T g8 (AhiceT) F 97 ST S ¢



4« 3FHEEAR F AET F FETFR & fow acs Tew AR F 99 &9 =T g

Question Number : 24 Question Id : 497959630 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Two statements are followed by two conclusions numbered I and II. Assuming the information given in the statements
to be true. even if they do not conform to real-world knowledge, decide which of the conclusion(s) logically follow/s
from the statements.

Statements:
1. All windows are kitchens.
2. All kitchens are houses.

Conclusions:

I. Some kitchens are windows.
II. All houses are windows.

Options:
1. « Only conclusion I follows

? % Only conclusion II follows

3. % Both conclusions I and II follow

A % Either conclusion I or IT follows

Question Number : 24 Question Id : 497959630 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& FuAl & W &7 sy | AR 1 T e §) FuE A o A #OFT A g, o & F
IEATEE AT F A FgeT J &, 9§ Fvw o F Ha avd Ty wuar & oafes &9 8
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2. |8 TS W
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(a)T e fEsfaar

(b) Teh =T f@sfrar g

Options:
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Question Number : 25 Question Id : 497959631 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Two statements are followed by two conclusions numbered I and II. Assuming the information given in the statements
to be true. even if they do not conform to real-world knowledge, decide which of the conclusion(s) logically follow/s
from the statements.

Statements:
1. Some cricketers are males.
2. Some males are hockey players.

Conclusions:
L Some hockey players are cricketers.
IL No hockey player is a cricketer.
Options:

1. » Only conclusion I follows

2 % Only conclusion II follows

3. % Both conclusions I and II follow

4 Either conclusion I or IT follows

Question Number : 25 Question Id : 497959631 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 26 Question Id : 497959632 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the addresses given as options is exactly same as the address given below?

A Shivkumaran Swaminathan
Residence 2090-02, C Wing, K Block
Lovely Estate, North Pitampura Road
Aurangabad — 564 012
Options:
A Shivkumaran Swaminathan
Residence 2090-02, C Wing, K Block
Lovely Estate. North Pitampura Road
1. » Aurangabad-— 584012



A Shivkumaran Swaminathan

Residence 2090-02, C Wing, K Block

Lovely state, North Pitampura Road
2  Aurangabad — 564 012

A Shivkumaran Swaminathan

Residence 2090-02, C Wing, K Block

Lovely Estate. North Pitampura Road
3  Aurangabad — 564 012

A Shivkumaran Swaminathan

Residence 2090-02, C Wing, K Block

Lovely Estate. North Pitampur Road
4. % Avurangabad— 564 012

Question Number : 26 Question Id : 497959632 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

el & RU 710 yat # ¥ 9 @1 gar &= ffr ov u9 & @A B2

A Shivkumaran Swaminathan
Residence 2090-02, C Wing, K Block
Lovely Estate, North Pitampura Road
Aurangabad - 564 012

Options:

A Shivkumaran Swaminathan

Residence 2090-02, C Wing, K Block

Lovely Estate, North Pitampura Road
1. « Aurangabad - 584 012

A Shivkumaran Swaminathan

Residence 2090-02, C Wing, K Block

Lovely state, North Pitampura Road
2 « Aurangabad - 564 012



A Shivkumaran Swaminathan

Residence 2090-02, C Wing, K Block

Lovely Estate, North Pitampura Road
3 Aurangabad - 564 012

A Shivkumaran Swaminathan

Residence 2090-02, C Wing, K Block

Lovely Estate, North Pitampur Road
4. = Aurangabad - 564 012

Question Number : 27 Question Id : 497959633 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Six numbers are given below, two of which are the same. Identify the two numbers that are the same.

(A) 689524351 (B) 685923451 (C) 689523451

(D) 689532451 (E) 689523451 (F) 689523541
Options:
1. # AandB

? % EandF

3 % AandD

4] « CandE

Question Number : 27 Question Id : 497959633 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A9 o 5Ee & T2 § T5EH ¥ 8 Us WA g1 3 TEUTHT Fr 9g=A S A 2
(A) 689524351 (B) 685923451 (C) 689523451
(D) 689532451 (E) 689523451 (F) 689523541

Options:




Question Number : 28 Question Id : 497959634 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Six symbol clusters are given below. two of which are the same. Identify the two clusters that are exactly the same.
(A)#S@#S% %S %E@
B)#S@ES&%SS#@
(C)H#S@HS & %S %#

(=

>
D)#S@#S&%3%S @
E)#S@%E&%ENH@
(F)RS@#S & %S %N# @

Options:

1. ®« BandC

? % AandD
3 % CandD

4] « CandF

Question Number : 28 Question Id : 497959634 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A OF T THg BT T §, T9H ¥ af v §AA | ¥ UF TAS THg HiT ¥ 8l
A HS@H#S % %S%H@
B #S@#$&%$S#@
CHS@H#S&%S % #@
D)#S@#58&%$%S@
E)HS@%HE%S%#@
FI#S@#5& %S % # @

Options:
1. « B3R C
2 = AIRD

3. « CHRXD

4, » C3HRF

Question Number : 29 Question Id : 497959635 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A + B means ‘A is the brother of B’
A — B means ‘A is the wife of B’

A % B means ‘A is the daughter of B’
A + B means ‘A is the sister of B’

IfQ+P~+R xT-S8, then how is P related to S?
Options:
1. % Brother



? % Son

3 Daughter

A = Sister

Question Number : 29 Question Id : 497959635 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A+BF 3 gABFaE
A-B&#E AT E'A BT &
AxBaraTg'A B&rafr g
A+BFIATET A BFaga ¢

T Q+P+RxT-S¢g a P, S¥ +8 gafag g7

Options:

2 % qa
3. v &
4 = Féd

Question Number : 30 Question Id : 497959636 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

Pointing to the photograph of a lady, Raman said, “Her mother’s husband is the only son of my mother’s husband.”
How is Raman related to the lady?

Options:



1. « Father

? % Brother

3 % Son

A = Uncle

Question Number : 30 Question Id : 497959636 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HA 7 UF Afgar 1 F=T Fr 6T 59 F4 gT e, FHHT AT F1 9fe A 71 F ofF = s=dtar e
g1" A Afger ¥ Fu mefaw 7

Options:

1. v e

4. u ol f'-E'-hI.-‘HIHImT

Question Number : 31 Question Id : 497959637 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

If in a code language. EMPTY is coded as 513162025, how would ROUTE be coded in the same language?
Options:
1. «» 181521205



191521205

-2
&

3 % 181621205

A % 181522205

Question Number : 31 Question Id : 497959637 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ifg v FT &9 F EMPTY &r 513162025 & &7 & FHfed fhar Arar g, @ ROUTE #r 3dr s #H
o pfea frar sream?

Options:

1. « 181521205

2 % 191521205

3. » 181621205

4. % 181522205

Question Number : 32 Question Id : 497959638 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

In a code language. APARTMENT" is written as ‘RAPATTNEM’. How will PROGRAMME be written in the same
language?

Options:
1. * GORPRMEMA

7 % GROPREMMA



i

3. % GORPSEMMA

/1. v GORPREMMA

Question Number : 32 Question Id : 497959638 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e Tk e HTHT H APARTMENT @ 'RAPATTNEM' &r@r =rar %, gt 38T &mT ¥ PROGRAMME #r
&g Brgr Freen?

Options:

1. « GORPRMEMA

2 %« GROPREMMA

3. »« GORPSEMMA

4. v GORPREMMA

Question Number : 33 Question Id : 497959639 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sum of Arjun and Vishakha's current ages is 42 years. After four years Arjun’s age will be two years more than
Vishakha’s age. What is Vishakha’s current age?

Options:
I oxr
1. = 22 years

7 % 18 vears

3 v 20 years



4 = 16 vears

Question Number : 33 Question Id : 497959639 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3o AR TemEr & A g # AT 42 9¥ §| 9N W F GG FSA T 3H fFerEr #r 35 § &
| 3T gl fremar # aoAe g Fr 3

Options:
1. « 223y
2 % 18 ayw
3 ¢ 2098
A, % 16 3y

Question Number : 34 Question Id : 497959640 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The sum of three numbers is 90. The second number is two times the first number. The third number is two times the
first number. What will the first mumber be?

Options:

Question Number : 34 Question Id : 497959640 Question Type: MCQ Option Shuffling : Yes



Correct Marks: 1 Wrong Marks: 0.25
e FETAT FT AT 90 Bl gEY WEAT Tgell HEAT W AN ¢l AEY FEAT 9gel HEAl ¥ AT gl

Options:

1. = 12
2w 15
3. v 18
4. = 21

Question Number : 35 Question Id : 497959641 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the number that will come next in the following series.

71,84, 98, 113, 129, ?
Options:
1. « 146

Question Number : 35 Question Id : 497959641 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



fAeafefa s@er § 371 e 3ETe TE&AT & IId Hi|

71,84, 88; 113, 128, 7

Options:
1. «» 146
2 % 148
3 & 151
A ® 153

Question Number : 36 Question Id : 497959642 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the number that will come next in the following series.

60, 61, 69, 96, 221, 7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. 337

Question Number : 36 Question Id : 497959642 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

fAeafofa s@er 7 31 e 3ETe TE&AT & IId Hi|

60, 61, 69, 96, 221, 7

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.

Options:
1. 337
D 437
3. 351
4. 317

Question Number : 37 Question Id : 497959643 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the letter cluster that will come next in the following series.

SWA, OTY, KQW, GNU, ?
Options:

1. = CIR

:

2 % DKR

3 = CIS

1. « CKS



Question Number : 37 Question Id : 497959643 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e e & 3= 3 30T e FHg 1 99

SWA, OTY, KQW, GNU, ?

Options:

1. » CJR
2. % DKR
3. % CJS
4. v CKS

Question Number : 38 Question Id : 497959644 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the figures in the options will replace the question mark (?) to continue the figure series given below?

+ | Ol
o ¢ 4+

Options:

>+




PR o <

Question Number : 38 Question Id : 497959644 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HIR AT & a2 RO @e F A g AT 47 W A W & BT Beel #§ # FiA-Ar HAPa 9o
fresr (?) F7 T 3R

+ 173 °F [,
o o +< |
Options:

4
O

'y
2. % <
<>
8




PR o -

Question Number : 39 Question Id : 497959645 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the Venn diagram that best represents the relationship among the given set of classes.

Stationery. Eraser. Writer

Options:

1. =

,.©0O

3. *

4 =

Question Number : 39 Question Id : 497959645 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

3F AT AW F IO FL A T F BT A0 T & 7 gout Fr gEw 3= 0% F T B



Options:

—_—
%

Question Number : 40 Question Id : 497959646 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many triangles are present in the figure given below?

Options:
1.« 9

? % 10



Question Number : 40 Question Id : 497959646 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A e e R 3 frasr RwIT siE 2

Options:
1. ¢ 9
2 = 10

4 = 12

General Awarenessl
Group Number : 3
Group Id : 49795933
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No

Revisit allowed for group Instructions? : Yes



Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness1

Section Id : 49795933

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 49795939
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 497959647 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these famous archaeological cave sites is not in Maharashtra?
Options:
1. » Ajantha Caves

?  Bhimbetka caves

3.« Ellora Caves

4. » Elephanta Caves

Question Number : 41 Question Id : 497959647 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

TIH ¥ Fi W F&E [alicas BT T FERISE H FAgT 87
Options:



Question Number : 42 Question Id : 497959648 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Name the election symbol that has been allotted to the Makkal Needhi Maiam (MNM) party, the new political party
floated by actor Kamal Haasan.

Options:
1. »~ Battery torch

? % Bow and arrow

3. ® Chair

4 Mobile phone

&

Question Number : 42 Question Id : 497959648 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

fFefofa 7 & 7 o1 979 g 7o Y a5e (vvaes) ot #r smefea fear o g7 o7 A
T Tae o7 =T HH 28 ST §=147 9147 £

Options:

1. v ST =

P = El?fl‘}ﬁTEITUT



Question Number : 43 Question Id : 497959649 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these Olympics was held in Berlin and was hosted by Adolf Hitler?
Options:
1. = 1924

2 % 1928

®

i

3. % 1932

A, » 1936

Question Number : 43 Question Id : 497959649 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

SHH ¥ FiT @ HeE s & ST G mar o, Sadr A vsiew feew & Fr e

Options:

1. = 1924

2w 1928

3. % 1932



4. v 1936

Question Number : 44 Question Id : 497959650 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the context of offence management. what is the full form of IPC?
Options:
1. % Indian Postal Code

? % Indian Police Code
3.« Indian Penal Code

A % Indian Punishment Code

Question Number : 44 Question Id : 497959650 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

T Yau & HeH H, IPC & U ATH F47 872

Options:

1« Indian Postal Code (337« ditee #13)

5 4 Indian Police Code (3= giom Fr3)

3 o Indian Penal Code (3f3ae diaer #13)

4. « Indian Punishment Code (T gfenFe F:5)

Question Number : 45 Question Id : 497959651 Question Type: MCQ Option Shuffling : Yes



Correct Marks: 1 Wrong Marks: 0.25
Name the shot in basketball in which the ball goes through the net without touching either the backboard or the rim?

Options:
1. = Loop

? « Swish

3. % Neat

4. % Clean

Question Number : 45 Question Id : 497959651 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

SERCAle & W H 3 A F FT 1A g or@H g dwars a1 {7 1 gr e a7 & e 87

Options:

Question Number : 46 Question Id : 497959652 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these countries controls the navigation rights and toll collection of the Suez Canal. the strategic canal that
connects the Red Sea and the Mediterranean Sea?

Options:
1. » England



? % Saudi Arabia
3. % Jordan

4, » Egypt

Question Number : 46 Question Id : 497959652 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SHH § FiA G U A PR IR HACT TR H ASA aTell THANS 7gT, T A& & ATaoremd
HOFRT 3T I TEr =TT s
Options:

1, & TR

2_&@%

4, v &E

Question Number : 47 Question Id : 497959653 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which is the only carbon negative country in the world (i.e. absorbs more carbon dioxide than what it releases)?
Options:

1. #= Switzerland

? % Finland



3. « Bhutan

4. % New Zealand

Question Number : 47 Question Id : 497959653 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

ST &1 UEATT R AERcAS ¥ (AT I HEe FEa sEaeEET ot § 3ud HiEw
yRT T ?) eRRa da AT a2

Options:

2 « fhadlE
3. v
T

Question Number : 48 Question Id : 497959654 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
In which pair of months do the two equinoxes occur (equinox is the date in which day and night are of same duration)?

Options:
1. » January and July

? w February and August

3 . March and September



4. » April and October

Question Number : 48 Question Id : 497959654 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

frw 7@=t F S F g By @ § (e 9 Y ¥ O R ik 19 F el wEe e #)2

Options:

2 % WE AT e

3. » AR AR BER

Question Number : 49 Question Id : 497959655 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which city of India is the National Institute of Epidemiology (NIE) located?
Options:
1. = Kanpur

?  Hyderabad
3. & Kochi

4 « Chennai

Question Number : 49 Question Id : 497959655 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



AT & fohd 9EY # A SEIEIE A% vhasfagen=t (NIE) & g2

Options:

4, v T

Question Number : 50 Question Id : 497959656 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

As a profession. what does a palacontologist do?

Options:
1. « Study of fossils

? w Study of insects
3 & Study ofrivers

/. » Study of handwriting

Question Number : 50 Question Id : 497959656 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

T FanedH AT (Soeerena) F Rr Feaeiag # @ #4r @ 27

Options:

1. » SERaEr &1 F7ega+



2w IS @ TS

3, w» ATl F TS

4 = To@Ee s e

Question Number : 51 Question Id : 497959657 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these rivers, though part of the greater Punjab province, does not actually flow in the Indian side of the state of
Punjab?

Options:

1. «+ Jhelum

2w Sutle

4 % Ravi

Question Number : 51 Question Id : 497959657 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

sAH ¥ Hid O 71, S F 30 @ 38w gow wig # fREa 7, Ea9 § 99 U8 F gRA" ST
H G T@aT 87
Options:

1. v &&=

g2, & AR



Question Number : 52 Question Id : 497959658 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

India and Denmark signed up a pact in April 2019 for collaboration in which of these areas?
Options:
1. » Lithium mining

? w Fishing and prawn farming
3 . Renewable energy

4. » Milk and milk products production

Question Number : 52 Question Id : 497959658 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTT 3T 3FAF & U 2019 § i@y #§ ¥ &Fg 87 7 9297 & v gasla 97 geaew e

Options:

1. « Rfws g@ss

2« FOA 9EA AR ST qee

5, e Sl (Jeguae Teet)



4 » T IR Y 3 F 3N

Question Number : 53 Question Id : 497959659 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the world of investments, the market in which trade of gold and silver takes place is called:
Options:

1. # commodities market
? w futures market
3. % metal market

4.« bullion market

Question Number : 53 Question Id : 497959659 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e & gfaar 7, B som & 919 3 9 &1 @R g § 3w B w9 A e S 22
Options:

1. « HAIME A

2, » TR T
3. % HAITT HARE
A e AR

Question Number : 54 Question Id : 497959660 Question Type: MCQ Option Shuffling : Yes



Correct Marks: 1 Wrong Marks: 0.25

The Automotive Research Association of India (ARAT) is the leading automotive R&D organisation set up by the
automotive industry along with the Government of India. Where is it headquartered?

Options:

1. ® Chennai
? « Pune

3. % Kolkata

4. » Hyderabad

Question Number : 54 Question Id : 497959660 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT E=r tEfavea 3% S2ar (THRUAE) 97T TR 35 1 #8eT
qE 3EANT SART TG THE ASHART ¥ U8 & (FgHu va fe)
TS g1 SHHT HEATT Hgl I 18 72

Options:

1, & 95

2.@‘«:@

Question Number : 55 Question Id : 497959661 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Name the last ruling Nizam of the princely state of Hyderabad.
Options:



1. « Nizam Mir Osman Ali Khan

2 % Nizam Mir Qamar-ud-din Khan

3. # Nizam Mir Akbar Ali Khan

4. » Nizam Mir Tahniyath Ali Khan

Question Number : 55 Question Id : 497959661 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

eeae arEa & AR Tew & F=r 77 22

Options:

1. v &9H AT 3774 37 @1

2. x R AR FAE3E-AT T

3w e #R 3T 3T @

4. » s @R FEaey e =

Question Number : 56 Question Id : 497959662 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

By combining iron with which of these materials (in tiny but varying quantities) does one get steel?
Options:
1. % Sulphur

7 % Copper



3. « Carbon

4. » Phosphorus

Question Number : 56 Question Id : 497959662 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

sAH ¥ FF A@ET & WY S & A (T ofeh 3eET-37e9T AT H) T 95 2T 87

Options:

1. = oW
2. x HH
3. v wma
4. x HIEPRE

Question Number : 57 Question Id : 497959663 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

The Ramana Ashram. which was home to modern sage and Advaita Vedanta philosopher Ramana Maharshi. is located
in which of these towns in Tamil Nadu?

Options:

1. + Tiruvannamalai

? % Salem

3. ® Thirunelveli



4 % Rameswaram

Question Number : 57 Question Id : 497959663 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

T FEH, IfEE ® 3R gaT daT aifew T mEf¥ o o, 7w affees ¥ e aew A
g 32

Options:

1. o ocaeamers

2 x TWAH

Question Number : 58 Question Id : 497959664 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

India's first domestically built aircraft carrier INS Vikrant, designated IAC-1, is getting built in which shipvard of India?
Options:

1. » Mazagon Dock Mumbai

‘8 Goa Shipvard

#

Jawaharlal Nehru Port Trust Mumbai

3.

b4

4. » Cochin shipyard

Question Number : 58 Question Id : 497959664 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



T &7 9ger TRl AT BamaEs 99 INS f&Fwd, IAC-1 & a7 ¥ a1f3g §1 a8 SAeeEs 99
9d & g RaarE & 99413 &1 @ e

Options:
1 » TS Sl HEY
2 % Tar P

g, SRS Agw 9 I HAS

Question Number : 59 Question Id : 497959665 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Gadar Movement was a freedom struggle movement against the British rule initiated in 1913 by Indians settled in
America. In which American city did it take roots?

Options:
1. ®# New York

? « San Francisco

3 x Chicago

Boston

=
%

Question Number : 59 Question Id : 497959665 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

1913 &7 71eX e, e omwa & Bers Al # 98 sRddl @ g% & o/ ve Faasar
mmmfmmﬁmﬁﬁaﬁﬁﬁmaﬁﬁﬁamﬁﬂﬁgmm

Options:



2 o T WIEEH
3 % [EeEn
A« SEe

Question Number : 60 Question Id : 497959666 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which constitutional amendment reduced the voting age in India from 21 years to 18 years?
Options:
1. v 61st Amendment Act 1988

? w Tlst Amendment Act 1992

3. % 78th Amendment Act 1995

A % 83rd Amendment Act 2000

Question Number : 60 Question Id : 497959666 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

feafafea w dufas Tiva & e o # FAgers 1 3y &t 21 a9 § gee 18 a9 & fgar
TAT?
Options:

1. » 6137 Feirew faFTw 1988



2 % 7137 Teras sRFIE 1992

3.« 7831 Futua sfafFmE 1995

A« 83ar getus sfafFwe 2000

General Awareness2

Group Number : 4
Group Id: 49795934
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareness?

Section Id : 49795934
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20

Sub-Section Number: 1
Sub-Section 1d: 49795940
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 497959667 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Name the actor who played the role of Pandit Jawaharlal Nehru in the 1982 movie 'Gandhi' directed by Richard
Attenborough?



Options:
1. ® Om Puri

? « Roshan Seth

3 u Saeed Jaffrey

4. » Alyque Padamsee

Question Number : 61 Question Id : 497959667 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Rt veaawr garr R 1982 #r frew 'amedr &7 93T et Jgw & {fFw Fwe g sfdea
T AT FT 87

R
2 o WA WS
3. « T5q SR
4, » Tiow SeHEur

Question Number : 62 Question Id : 497959668 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the capital of the African country of Mozambique?
Options:
1. ® Khartoum



2 Maputo

3 % Accra

4. Tripoli

:

Question Number : 62 Question Id : 497959668 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ar=faes T PR 3T B ReAef@a O FiF 91 =3 3 Fr IS 22

Options:

1, » FHE

2 FT%E.:I'
3w 3ERU
4. = e

Question Number : 63 Question Id : 497959669 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the currency of the African country of Ethiopia?
Options:
1. ®# Rand

? % Franc



3 . Ethiopian Birr

4. = Dalasi

Question Number : 63 Question Id : 497959669 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

anhrehr gor ST @ Her Far 27

Options:

Question Number : 64 Question Id : 497959670 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

German-born scientist Johannes Kepler is famously known for which of these areas of studies?
Options:
1. » Pioneering rocket technology

? w Synthesising ammonia from nitrogen and hydrogen gases

3 Discovering the laws of planetary motion



4. » Developments in atomic and quantum physics

Question Number : 64 Question Id : 497959670 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

T H TN TS 39 FERT FUR Teead ¥ T 87 F yeums ¥ v am I 22

Options:
HAGUTATHS JTehe dehaileh

Dy BT 3N FEISSA A W IFANAAT FT FIOOT

3 o TE ARy F B o

T AR FEEA (FATE) iR 7 B

>

Question Number : 65 Question Id : 497959671 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which among these countries is NOT a part of South Asian Association for Regional Cooperation (SAARC)?
Options:
1. % India

? w Bangladesh

3. « China

4 = Pakistan

Question Number : 65 Question Id : 497959671 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



s 22 F ¥ *ia @ r gfdor vfrae i meaeT Oeted (TeR) & fgEar @@ 82

Options:

1, = ¥B

Dy S

Question Number : 66 Question Id : 497959672 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Samuel Christian Hahnemann is the inventor of the medical science of homeopathy. To which country did he belong?

Options:
1. « Germany

? % France

3 % Portugal

4] = Greece

Question Number : 66 Question Id : 497959672 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

taye Faas gade, st & Rfecar few & afasens € 98 e g @ 27

Options:

1, v &0




Question Number : 67 Question Id : 497959673 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these seas has Kazakhstan. Russia, Azerbaijan. Iran and Turkmenistan as the surrounding countries?
Options:
1. # RedSea

? % Dead Sea

3 . Caspian Sea

4 = Black Sea

Question Number : 67 Question Id : 497959673 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A ¥ FF @PR # Fefetae, §F, HeEAE, A AN gEATAEa g3 oY 8¢ 2

Options:

1. = ©e @R

2, & IR



Question Number : 68 Question Id : 497959674 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the Viceroy of India just before Lord Mountbatten. the last British Viceroy?
Options:
1. » Lord Linlithgow

? « Lord Wavell

3 w Lord Reading

4 % Lord Irwin

Question Number : 68 Question Id : 497959674 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

daE Bt ToaTT o AEcdes ¥ 8% 98 9Ng & 980T i a7

Options:

1. = @@= At

2 o W A

3. x s qfEe



4. » @S gl

Question Number : 69 Question Id : 497959675 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the IPC act that deals with the punishment for murder?
Options:
1. % Section 141 of IPC

? % Section 107 of IPC
3 Section 302 of IPC

A % Section 268 of [PC

Question Number : 69 Question Id : 497959675 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

T # 9 #i7 o 3sddr 3RHTFE g FF g9 ¥ g5 &7

Options:

1. w FTRERET Y anr 141

2 xR Froarr 107

3. o 3R HroarT 302

4, » 3EENEr FroanRr 268

Question Number : 70 Question Id : 497959676 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of these languages does not use the devanagari script for writing?
Options:
1. % Sanskrit

9 % Hindi

3 . Punjabi

4 = Marathi

Question Number : 70 Question Id : 497959676 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SAH T Hia UT 919, 9@ & T SFAFNT R &7 399 #E7 Fydr 27

Options:

+

2. « f&&

Question Number : 71 Question Id : 497959677 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Foxconn, one of the world's largest contract electronics manufacturers, has manufacturing bases all over the world.
Which of these is the original home country of Foxconn?

Options:
1. # United States



? % China
3« Japan

4.« Taiwan

Question Number : 71 Question Id : 497959677 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬁﬁﬂﬁ?ﬁ'gﬁﬁ?ﬂ@ﬁ?ﬂ@ﬁﬂém*ﬁmw armqmﬁﬁﬁwﬁ,quﬁgﬁmﬁm
I FE &1 Flerdpd F HA o HeAton@d H H FieT @ 2 87

Options:

1« «e—?gnhd =T F¥A=T

2 x A4
3. o« M
4. » dEaE

Question Number : 72 Question Id : 497959678 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these is a book that is not written by Vikram Seth?
Options:
1. » A Suitable Boy

2 % AnEqual Music



3 Five Point Someone

4. % The Golden Gate

Question Number : 72 Question Id : 497959678 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A ¥ Fia o qEaw @A ¥ ganr F2 o 1% 37

Options:

1 o T S =

3, IEd 9T WHASA

4. w & 9esd AT

Question Number : 73 Question Id : 497959679 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

With which South American country did India sign up an agreement in April 2019 for cooperation in the field of
geology and mineral resources?

Options:
1. = Paraguay

? « Bolivia

3. # Chile



4], » Argentina

Question Number : 73 Question Id : 497959679 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

e af@or 3ARE 3 & aRa F Ty 3w 2019 F ufiyw= ok wfaw guE F & & g F
forw gaelar frar ar?

Options:

1. = H@a

2. » Srefear
3 % =
A« HASET

Question Number : 74 Question Id : 497959680 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Paul Revere is an immortal folk hero of the American Revolution against the British. In which city did he live?
Options:

1. # San Francisco

? « Boston

3. % Denver

4 % Florida

Question Number : 74 Question Id : 497959680 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



gie WY, FAT & Ead 3ANE Fia F 37T AF A0F g 38 T eT § ¥ R @ F 'y e

Options:

1&'@?!'%@13#

2gﬁ:|m

Question Number : 75 Question Id : 497959681 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

One of these countries has a unique constitutional law [Article 9 of their Constitution] which prohibits that country to
wage a war against any other country. Which is the country that has this rare and unique law?

Options:
1. = Germany

Ttaly

&

2

Switzerland

b

3.

4.  JTapan

Question Number : 75 Question Id : 497959681 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frrafafea & @ ve & & vs HefadT Fauas Fee e § [39% diEue & eee 9] S 39
hraﬁr%mhrﬂ:%wga%ﬁ#%vmam%iﬁmﬁ?mwmﬁr
FiT AT E?

Options:



Question Number : 76 Question Id : 497959682 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the ancient art of Kathakali (from Kerala), which of these is not a legitimate form of costume and make up?
Options:
1. » Pacha (Green)

?  Neela(Blue)
3 x Katti (Knife)

4 = Thaadi (Bread)

Question Number : 76 Question Id : 497959682 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

FUFHA H IS Foll (I §) #, AT ¥ FiF @ s 3k R
T TF AT T FLT 27

Options:

1. & 9H=T (&)



2. » s (rem

3.« FE (TE)

Question Number : 77 Question Id : 497959683 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these islands is not a part of the "West Indies' island group?
Options:

1. ® Jamaica

? w Trinidad & Tobago

3. « Hawaii

4 % Barbados

Question Number : 77 Question Id : 497959683 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

st ¥ B W A Yo A Y T w1 R

1. = ST

o g 3kt I



Question Number : 78 Question Id : 497959684 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which of these streams of knowledge would vou find the usage of an isoquant line?
Options:
1. » Physics

? « Economics

3w Organic chemistry

/. » Inorganic chemistry

Question Number : 78 Question Id : 497959684 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafofea & ¥ 59 RBYg § ¥9 U T8-o19d (SIS Tse) T@T H 331 HT T0er?
Options:

1. « slifas- ==

2 o HUAE

3w i FHAE



4w FAARE HATE

Question Number : 79 Question Id : 497959685 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tinnitus is a medical disorder that affects which part of the human body?
Options:

1. &= Liver
? w Lungs

3. « Ear/Eardrums

4. » Knee/Knee Cap

Question Number : 79 Question Id : 497959685 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

fefaew v Aftea REIET &, 78 799 0T & B 37 &r vsfag =ar &2

Options:
1. = @@ET
2. % WS

3 o FT FA F T

4%:-33?1!##

Question Number : 80 Question Id : 497959686 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Where is the global headquarters of the Intergovernmental Panel on Climate Change (IPCC), a UNEP organisation that
studies and assesses climate change?

Options:

1. v Geneva

? # Cardiff

3. % Nairobi

4. » Ho Chi Minh City

Question Number : 80 Question Id : 497959686 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SEEEAHE A A FAsHE O (IPCC) St Feag Iaas &7 37eaae A 3ol Hal §, 3T
Af¥as FEoew Fe W g e

Options:

1_gfﬁ|ﬁET

2 % FEH

3 % @Er

I R

Arithmetic Abilityl

Group Number : 5
Group Id: 49795935
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 49795935
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 49795941
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 497959687 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2416 —-{8~20f (8§ +11 — 17) }] is equal to:
Options:
1. + 10

2. w 12

Question Number : 81 Question Id : 497959687 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

24 -[16 - {8 =+ 2 of (8 + 11 — 17 ) }] =1 A Fafai@d # ¥ oo Iwey geme?

Options:



2. u 12
3 = 14
4 = 16

Question Number : 82 Question Id : 497959688 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 .
——— 15 equal to:

Options:

1. =

| =

|

Question Number : 82 Question Id : 497959688 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

—— = 7 ¥ B |ew gem?

54+

&
T

Options:



|-

—h
]

Question Number : 83 Question Id : 497959689 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(38.4+29.6)% —(38.4—-29.6)*
3.24 %29.6

is equal to:

Options:
1. = 4

2'\,7 40

3. % 400

A. % 4000

Question Number : 83 Question Id : 497959689 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

(EATZSE" GE4236) Eieor & o Sk s o2

3.84 ®29.86

Options:



2. v 40
3 % 400
A % 4000

Question Number : 84 Question Id : 497959690 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1 $ ., & ;
The sum of the first 24 terms of — +— + +... 15 equal to:
3x5 ax7 T=9
Options:
26
1. 8 147
i3
7. ® 1i7
16
2.8 51
2
4, W 51

Question Number : 84 Question Id : 497959690 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Lo+ L o+ 1+ F gger 24 9l & T Bhaer gem?

3X5 =7 THS

Options:



26
1. &

E
2 = 1a7
E
3 & s
L
4 & s1

Question Number : 85 Question Id : 497959691 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

38.26 + 3.826 —0.3826 — 0.03826 is equal to:
Options:
1. & 41.66814

7 o 41.66514

3. % 41.65154

A % 41.65514

Question Number : 85 Question Id : 497959691 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

38.26 + 3.826 - 0.3826 - 0.03826 =r=fa@a #§ ¥ fms syey grem?

Options:

1. = 4166814



2 o~ 4166514

3. » 4165154

4. %= 4165514

Question Number : 86 Question Id : 497959692 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

(32 x3° x V216 ++/9 x V8 isequal to:
Options:

T. & 3

4 v 12

Question Number : 86 Question Id : 497959692 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(3%)* x37° X V216 +V9 X V8 fyrgy 3 ¥ frmay e g2

Options:



4, » 12

Question Number : 87 Question Id : 497959693 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

0.42 + 0.648 — 0.69 is equal to:
Options:

1. ¢ 0372
2 % 0.373
2 % 0376

4 » 0.386

Question Number : 87 Question Id : 497959693 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

0.42 + 0.648 - 0.69 =T # ¥ &gs FwaET gem?

Options:
1. ¢ 0372

2 % 0373

3. % 0376



4. % 0386

Question Number : 88 Question Id : 497959694 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is an irrational number?

Options:

1. « v0.01

2« 30.027

3 Y0.00016

4. » 0.00243

Question Number : 88 Question Id : 497959694 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

T # ¥ #i9 & 9= v 39@T gEa 22

Options:

1. » 001

2w 30.027

3« V0.00016

4. = ¥0.00243

Question Number : 89 Question Id : 497959695 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following is the largest fraction?

Options:
121

1. = a2z

122
? % 123

123
3 % 124

124
4 & 125

Question Number : 89 Question Id : 497959695 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TaRRa # ¥ #i9 @7 &e7 §99 931 & 22

Options:
121
1. = 122
122

2. ® 123

1=s
3 % 124
i
4, ¢ 125

Question Number : 90 Question Id : 497959696 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25



A person has some money with him. He gav e — of it to his daughter aud of the remaining amount to his son. If he is
left with 8450, how much money did he have in the beginning?

Options:
1. = T61.500

7w 362,100

3 o 63375

4. = T64.500

Question Number : 90 Question Id : 497959696 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

wmﬁ;r#qmgﬁumémﬁwmﬁﬂgaﬂﬁmmﬁréﬁﬁammmw

aa‘-nﬁrargai FT 37T 9¢ F AT 3R W 9F 3 e T 8450 I E, A 3RH H IHF W
ol Tohetall gy Hisg o2

Options:

1« %61,500

2 x 262,100

3 o 63375

4. « ¥64,500

Question Number : 91 Question Id : 497959697 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

The HCF of two numbers is 22 and their product is 20328. How many such pairs of numbers are possible?

Options:



Question Number : 91 Question Id : 497959697 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar §EITHT T AgcaHd AT (HCF) 22 § 3K 39 UGS 20328 g OO gEarHT & fhaw A

Options:
1. = 3
2. v 4

Question Number : 92 Question Id : 497959698 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

The sum of the digits of the least number which when divided by 14, 16, 18 and 24 leaves the same remainder 5 in each
case and is divisible by 13 is:

Options:
1 o 14



-~
®
—
Lh

16

i
%

17

e
%

Question Number : 92 Question Id : 497959698 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IE FiT o T9W o 5T § S 13 ZEnr frarew § i T st % O o wmeen 14, 16, 18 3y
24 Zanr Ffag = W &Y 9”5 qume HIT?

Options:

1. v 14
2w 15
3 % 16
4 = 17

Question Number : 93 Question Id : 497959699 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

If3a=4b=6c, thena:b: cisequal to:

Options:



Question Number : 93 Question Id : 497959699 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

WX 3a=4b=6¢c @ ara:b:c TR AT FEs =T 297

Options:

T. & 2Zs Fea

5 T Y R T

Question Number : 94 Question Id : 497959700 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The incomes of A and B are in the ratio 4 : 5 and their expenditures are in the ratio 2 : 3, respectively. If the savings of
A and B are < 752 and T 280, respectively. what is the sum of their incomes?

Options:
1. = T 6732

7« T7632

i

3. % T 8480



e

A % T9328

Question Number : 94 Question Id : 497959700 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AR B #H 3T 4:5F I F g AT 56 500 2 3 F 3T H §l IR A R B FH aEa
FHA: T 752 3HIT T 280 &, T 3T T F AT haeT 87

Options:
1. & T6732
2. « T7632
3« 78480
4 = 79328

Question Number : 95 Question Id : 497959701 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the difference between the third proportional of 4 and 3 and the mean proportional between 14.4 and 3.67
Options:

1. v 4.95

-~
®
LA
[
LA

(%
®
L
0
Lh

bb.
i

Oy
S
Lh

Question Number : 95 Question Id : 497959701 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
3 3R 4 & FAEOET (third proportional) 3T 14.4 3T 3.6 & FEITIIT (mean proportional) & &=
3TT FIT &7

Options:
1. «» 495
2. w B25
3. = B85
4. = 6.45

Question Number : 96 Question Id : 497959702 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25
Two vessels A and B contain acid and water in the ratio 7 : 6 and 8 : 5. respectively. Their contents are mixed in
the ratio 5 : 4. In 351 ml of this solution, how much water should be mixed to get a solution containing
approximately 50% acid solution?

Options:
1. = 43ml

? w 46ml

3. « 51ml

Question Number : 96 Question Id : 497959702 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

& Foar A AT B & FAw: 7 1 6 3R 8 : 5 F 3T A 37 3N A g1 3% G 1 5 1 4 F A
F Femar =T ¥ =7 /AT F 351 ml Oe § @ETsET 50% 37T aTeT O 9o e % [av fhaer
AT H ST [HAT ST =Tige?




Options:

1. % 43 ml
2w 46 ml
3. v 51 ml
4. % 55 ml

Question Number : 97 Question Id : 497959703 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

The average of all factors of 72 is:
Options:
1. = 17.45

Question Number : 97 Question Id : 497959703 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

72 % Tt qUAGS (factors) F T Fhda gET?

Options:

1. = 17.45



2 % 16.96

3. v 16.25

4. = 15865

Question Number : 98 Question Id : 497959704 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
The average of 41 numbers is 58. The average of the first 21 numbers is 65 and the average of the last 21 numbers is 50.

If the 21% number is excluded, what will the average of the remaining numbers be?
Options:
1 _® 58535

? & 58.525

A = 58.750

Question Number : 98 Question Id : 497959704 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

41 FEomat & 3itET 58 B gger 21 Tt & 3itmg 65 § 3t 3fSw 21 g=urat & g 50 §
2137 F&T F orF o J° O o gearst v g Baer geme

Options:

1. % 58535

2. « 58525



3. % 58.375

4. % 58750

Question Number : 99 Question Id : 497959705 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

A number is increased by 60% and then decreased by 40%. What is the net increase or decrease percent in the number?
Options:

1. « 4% decrease

? % 4% increase

10%% decrease

-
%

109 increase

e
%

Question Number : 99 Question Id : 497959705 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

T BEAT #H 60% H I g% § 3R A 40% F A @ B wEw F oo e wfoed & w0 o1 gl

g

Options:

1. v 4% & HaAT

2« 4%%%@'

3. % 10% & F=h



4w« 10% #r3fx

Question Number : 100 Question Id : 497959706 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a test. out of 250 students, 58% passed in science and 52% passed in mathematics. If 32% failed in both subjects.
how many passed in both subjects?

Options:

3. % 110

A & 105

Question Number : 100 Question Id : 497959706 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

v T #, 250 o A F 58% fawmar # 3K 52% ftva F 9w gu ufE S fawwt & 32% e gw g,
ar gt st # frae o 9w ge 82

Options:

1. = 120
2 % 115
3 = 110

4. « 105



Arithmetic Ability2

Group Number : 6

Group Id: 49795936

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

Isthis Group for Examiner?: No

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

Arithmetic Ability2

Section Id : 49795936
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20

Sub-Section Number: 1
Sub-Section 1d: 49795942
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 497959707 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A person marked an article 40% above cost price and sold it at a discount of x%. If his profit is 19%, what is the value
of x?

Options:



-
®
—
Ln
Lh

Question Number : 101 Question Id : 497959707 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T Tod o HIS HA W 38R o Jed ¥ 40% 30 &1 7oz ftaa G sk 38 % $r e
R &7 @M1 IR 37 For 19% o 90 g, A x F A R 87

Options:
1. = 14
2 % 145
3. v 15
4 % 155

Question Number : 102 Question Id : 497959708 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A person sold an article for 561 at a loss of 15%. At what price should he have sold it to gain a profit of 20%?
Options:

Question Number : 102 Question Id : 497959708 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
wa‘%ﬁi5e1ﬁwméﬂ?‘rw15%ﬁaﬁ‘r§'§| 20% T T FHAE & &7 3§ 3T TH
@I foFH oo W a0« =AMfT ar?

Options:
1 = 2775
2. » T792
3« %828
4 % %856

Question Number : 103 Question Id : 497959709 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A person sold two articles for 1863 each. On one he made a profit of 35% and on the other he incurred a loss of 31%.
What is his overall gain or loss percent (correct to one decimal place)?

Options:

1. + 8.7%loss

Question Number : 103 Question Id : 497959709 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T hfed o & WAE @ % 1863 & Hod W AAT| UH FAW T 30 35% I AT FAMEN AN gl
mmmm%#‘rmﬁ?ﬁaﬁiﬁrﬁmﬁmmmmgﬁ@%ﬂmmm ZAHTT TAH TF
o)




Options:

1. » 87% @

2« 95% @

3. % 8.7% =S

4. w 95% oM

Question Number : 104 Question Id : 497959710 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A person marked his goods 50% above the cost price. He sold 20% of goods at marked price, 60% of the remaining at a
discount of 20% and the remaining at a 40% discount. What is his overall gain percent?

Options:

1.

®
—
Lh
oh
5‘\.

Question Number : 104 Question Id : 497959710 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS Fd HIS THE W AT o8 § 50% 3O Fgeg REad aar €1 357 20% e # R
Hed 9T 4, AW AT H 60%, 20% BT W AR TR WA 40% TT W a9 eIl 36 Fo faaw
Sfeiere 87 qrod gaim?

Options:



1. = 156%

2 % 15.8%

3. % 16.2%

4. v 16.4%

Question Number : 105 Question Id : 497959711 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9 = 3 . : .
A sum of money becomes g of itself in four years at R% per annum simple interest. What is the value of R?

Options:
1. & 2.675%

7« 3.125%

(%
€
i
L ]
i

A = 6.75%

Question Number : 105 Question Id : 497959711 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

wﬁﬁmmqﬁaﬁﬂ%mmwmaﬁﬁmaﬁrga}mﬁmhRmmm
2

Options:

1. = 2.675%



2 » 3.125%

3. % 6.5%

4. % 6.75%

Question Number : 106 Question 1d : 497959712 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The simple interest on I3600 for three years at R% per annum is T648. What will be
the compound interest on T18,000 for two years at R% per annum?

Options:
1. & 32208.40

3. ¢ 32224.80

A % 3222820

Question Number : 106 Question 1d : 497959712 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gfa a¥ R% 9T &1 a¥ & 5T T 3600 &r UfEr 97 919 JaIRoT A= % 648 1 99 39 R% WX &7 Iw
& forT % 18,000 WX =rgie =Or=t fohaarr grem?

Options:

1. %= %2208.40

2 % 221260



3. v %2224.80

4. » 222820

Question Number : 107 Question Id : 497959713 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of T7.000 is invested by a man for 15 months at 10% per annum compounded half yearly. What will be the
percent increase in his income at the end of 15 months (correct to one decimal place)?

Options:
1. ¢ 13%

13.2%

/8

&

3. % 13.5%

A % 13.8%

Question Number : 107 Question Id : 497959713 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UF ed AN HUANS THgTE AUET R F I e F 10% FTHaY &7 W, % 7,000 Fr =y

15 FEET F T & & A g1 15 7= & 39 & 306 ¥ H hae gfaea & gfE g
(T AT T ford)?

Options:
1. ¢ 13%
2 % 132%

3. % 13.5%



4. % 13.8%

Question Number : 108 Question Id : 497959714 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The difference between the compound interest and simple interest for 3 years at 10% per annum on Jx is T372. What is
the value of x?

Options:
1. & 9000

2w 10.500

3« 10,700

4. » 12.000

Question Number : 108 Question Id : 497959714 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tx W 9T I¥ 10% =0 &X W 3 T & T I9hgie =0 A TURT 1= & 9 3T 3372 &

x F Heu foraam 27
Options:

1_ % 9000

2 % 10,500
3_ % 10,700

4. » 12,000



Question Number : 109 Question Id : 497959715 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

One side of a thombus is 6.5 cm and one of its diagonals is 5 cm. What is the area of the thombus (in cm‘j}?

Options:
1 _« 30

2
8
Tad
I
Lh

!“B
&
)
o
Lh

Question Number : 109 Question Id : 497959715 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T HHEAS & U H & oGS 6.5 cm T 5 cm F T FUT ¥ FAHS 1 A6 (em? FH) Fraar
grm?

Options:
1. ¢ 30
5 ® 325
H. = 35
A % 385

Question Number : 110 Question Id : 497959716 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The radius of a circle is increased by 40%. What is the percent increase in its area?

Options:



1. = 40%

7 & 96%

140%

-
%

196%

-
%

Question Number : 110 Question Id : 497959716 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UF Fod B Fear H 40% Fr giE g B 3% aea 7 s wiava & gy gete

Options:
1 % 40%
2. ¢ 96%
3 % 140%
4 % 196%

Question Number : 111 Question Id : 497959717 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
A sphere of radius 2.7 cm is melted and small balls of radius 1 cm each are made. How many such balls can be made?

Options:

1. = 18

8

2.\-" 19



Question Number : 111 Question Id : 497959717 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2.7 cm &1 = & v e Fr Rgerar Far § 3 1 om Fr B a6 ol 618 g9 S g v

fraetr 3 &= =T gehar 22
Options:

T. = 18

2. v 19

3 = 20

4. = 21

Question Number : 112 Question Id : 497959718 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A cone is divided into two parts by cutting it by a plane parallel to the base such that the ratio of the height of the new
cone and frustum of the cone is 3 : 4. What is the ratio of the volume of the cone and the fiustum of the cone so
obtained?

Options:
1. = 9:16



i

A % 27:343

Question Number : 112 Question Id : 497959718 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U IF F HTUR H FAK FHead & dAFT 7 57 avg i frar sar ¢ s & 50 oF & av
I AN eete FF T &7 3T 3 1 4 g 9T oF R oF F BeAd & 3aaT F= Hgaa e

2?7

Options:

1. = 9:16
2 x 9:25
3. ¢ 27: 316
4. = 27 : 343

Question Number : 113 Question Id : 497959719 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Pipes A, B and C can fill an empty tank in 10 hours. 20 hours and 30 hours, respectively. All three pipes are opened
alternately for 1 hour each starting with B. then A and then C in this order. In how many hours will the tank be filled?

Options:

1.15

5
L ﬁ 6



2
4.2 s

Question Number : 113 Question Id : 497959719 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g A, B 3T C FAr 10 ©e, 20 9¢ 3T 30 U H TF Wl ¢ AT Hha g1 a7 929l #F TF &
91 Teh 14T 98T Ush Uk U¢ & [T Gelr Sar g, 3K gof e0 g B, ST A iR 3@ a1 C & &H
# T S §1 EF B RS F T fhelel U T THT F?

Options:
i, » B3
5, w5
4, B
AR

Question Number : 114 Question Id : 497959720 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

By walking P of his usuval speed, a person reaches his office 9 minutes later than his usual time. His usual time (in
minutes) is:

Options:

1. 18

8



Question Number : 114 Question Id : 497959720 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HYA IEAH T F o T W T W TF e WA A FAT TET § 9 e F g
g g1 3HH WAy gHy (et A7) =

Options:

1. = 18
2 = 22
3. v 24
4 = 32

Question Number : 115 Question 1d : 497959721 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A boat can go 8 km downstream and 6 km upstream in 66 minutes. Also. it can go 8 km upstream and 12 km
downstream in 93 minutes. What is the speed of the boat downstream (in kmv/hr)?

Options:

1. = 10

:

~2
i
—
| ]

13

-
%

4, v 16



Question Number : 115 Question Id : 497959721 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T AT 66 e F A4 Fr i F 3 8 km T o9 F Budd 6 km T HHdT §1 T 93 BEEr A
T F BT 8 km HRT 9RT Fr AT 12 km F g off FT W THAT &1 9RT F AR W ew F A= #Hr
I (km/hr H) Braar 272

Options:

1. = 10
2w 12
3. % 13
4. v 16

Question Number : 116 Question Id : 497959722 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A is 25% more efficient than B and C is 25% less efficient than B. Working together, they can complete a task in 20
days. In how many days can A alone complete 75% of that task?

Options:
1. « 36

Question Number : 116 Question Id : 497959722 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A, B & o F 25% U FH X Tl g Stk C, B & goa # 25% FH FH & Tl ¢l Al
et F1H @ 20 R # U X T g1 A 30 Rhael AT § 38 F & 75% T T
g2

Options:
1. » 36
2 x40
3. % 45
4 % 60

Question Number : 117 Question Id : 497959723 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Study the following table and answer the questions that follow:

Number of cars sold by four different showrooms over the years.

Showroom Years
2012 2013 2014 2015 2016 2017
A 500 580 620 680 700 820
B 420 460 480 560 520 530
e 520 500 540 490 510 640
D 480 520 480 540 570 620
‘What is the average number of cars sold by the showroom B during the years 2012 to 20177
Options:
1. « 495
2 % 500




A % 510

Question Number : 117 Question Id : 497959723 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foie=T aTforer I &0 ¥ 9¢ 3R IO 71T 9341 & 3o o

ST F IR HET-HoET AMEH SaRT =7 75 HRI . &)

AMEH EL]

2012 2013 2014 2015 2016 2017
A 500 580 620 680 700 820
B 420 460 480 560 520 530
C 520 500 540 430 210 640
D 480 520 480 540 570 620

I¥ 2012 & 2017 & SR 9%H B @r =i 715 &RT Fr g gewr Gaar 82

Options:

1. » 495
5 & 500
A & 508
A x 510

Question Number : 118 Question Id : 497959724 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the ratio of the total cars sold by all showrooms during the year 2012 to the cars sold during the vear 20167

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:



1. 98:115

7 96:125
3. 98:119
A 96:115

Question Number : 118 Question Id : 497959724 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

a¥ 2012 F R Tl o 2@y 4= 15 o F F ¥ 2016 & A a= a5 F F 9T e
82

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1. 98 : 115
2 96 : 125
3. 98 : 119
4. 96 : 115

Question Number : 119 Question Id : 497959725 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

What is the percent increase in the total sale of cars by all showrooms in the year 2017 from the total sale of the cars in
the year 2015 (correct to one decimal place)?

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:



1. 14.8%

7 15.0%

3. 15.2%

4. 15.4%

Question Number : 119 Question Id : 497959725 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T§ 2015 & HRT H For R & 2017 F @l w7 TR FR H For oo 7 foraar gfoes H 3@ g3
¢ (T SFAed T O od)?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:
1. 14.8%
2 15.0%
3. 15.2%
4. 15.4%

Question Number : 120 Question Id : 497959726 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

If the total sales by showroom C is represented in a pie chart, what will be the central angle of the sector representing
the sale in the year 2015 (closest to the nearest complete degree)?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:



-
3. 55°
4 57°

Question Number : 120 Question Id : 497959726 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ofE 2T C g@r o R o5 =1 # gl S 7, A ¥ 2015 # v gfafafae s s
Tl FT FET FOT F47 g (Hepeasw o1 Bl F w{9)?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:
Te B8
. B3*®
3. 55°
4. 57°
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Question Number : 121 Question 1d : 497959727 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Parts of the following sentence are given as options. Identify the part that has an error.
I bought two dozens mangoes but most of them were sour.

Options:

1. » 1bought

2 v two dozens mMangocs

3. # but most of them

4 % weresour

Question Number : 121 Question Id : 497959727 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Parts of the following sentence are given as options. Identify the part that has an error.
I bought two dozens mangoes but most of them were sour.

Options:



1. » Ibought

2 » two dozens mangoes

3. % but most of them

4. % weresour

Question Number : 122 Question Id : 497959728 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Parts of the following sentence are given as options. Identify the part that has an error.
The flyvover is in repair and this is causing great inconvenience to all.

Options:
1. » The flyover is

2 o Inrepair

3 and this is causing

/. » greatinconvenience to all

Question Number : 122 Question 1d : 497959728 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Parts of the following sentence are given as options. Identify the part that has an error.
The flyover is in repair and this is causing great inconvenience to all.

Options:
1. = Theflyoveris



2  inrepair

3. « and this is causing

/. greatinconvenience to all

Question Number : 123 Question 1d : 497959729 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Select the alternative that will improve the underlined part of the sentence. In case no improvement is needed, select Wo
improvement'.

India has become the most fastest grown smartphone market in the world.

Options:
1. % themost fast grown

2 w themost faster growing

3 . the fastest growing

4. » Noimprovement

Question Number : 123 Question Id : 497959729 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Select the alternative that will improve the underlined part of the sentence. In case no improvement is needed, select No
improvement'.

India has become the most fastest grown smartphone market in the world.

Options:

1. « the most fast grown

2  the most faster growing



3. thefastest growing

4. % Noimprovement

Question Number : 124 Question Id : 497959730 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Select the alternative that will improve the underlined part of the sentence. In case no improvement is needed, select No
improvement'.

The information present in the conference was focus on the plight of the girl child.

Options:

1. « Dresented at the conference focussed

? w presented by the conference was focussing

3 Dpresent at the conference will focus

4. % Noimprovement

Question Number : 124 Question 1d : 497959730 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Select the alternative that will improve the underlined part of the sentence. In case no improvement is needed, select Wo
improvement'.

The information present in the conference was focus on the plight of the girl child.

Options:

1. » Dpresented at the conference focussed

2  presented by the conference was focussing

3« present at the conference will focus



4. = Noimprovement

Question Number : 125 Question Id : 497959731 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in active voice.
A difficult catch was taken by the wicketkeeper.

Options:

1. » The wicketkeeper takes a difficult catch.

2 . The wicketkeeper took a difficult catch.

2 » The wicketkeeper has taken a difficult catch.

4. » The wicketkeeper was taking a difficult catch.

Question Number : 125 Question 1d : 497959731 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in active voice.
A difficult catch was taken by the wicketkeeper.

Options:
1. ® The wicketkeeper takes a difficult catch.

2 » The wicketkeeper took a difficult catch.

3. % The wicketkeeper has taken a difficult catch.

/. « The wicketkeeper was taking a difficult catch.



Question Number : 126 Question Id : 497959732 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in active voice.
The sky is being covered by dark clouds.

Options:
1. » Darkclouds cover the sky.

2w Dark clouds covered the sky.

3 » Dark clouds were covering the sky.

4. » Darkclouds are covering the sky.

Question Number : 126 Question 1d : 497959732 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in active voice.
The sky is being covered by dark clouds.

Options:

1. « Darkclouds cover the sky.

2 & Dark clouds covered the sky.

3. Dark clouds were covering the sky.

/.  Darkclouds are covering the sky.

Question Number : 127 Question 1d : 497959733 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in passive voice.
Who gave you this false information?

Options:



1. » By whom is this false information given to you?

? % By whom is this false information being given to you?

3 . By whom were you given this false information?

4. » By whom were you gave this false information?

Question Number : 127 Question Id : 497959733 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in passive voice.
Who gave you this false information?

Options:

1. % By whom is this false information given to you?

2 % By whom is this false information being given to you?

3. By whom were you given this false information?

/4. » By whom were you gave this false information?

Question Number : 128 Question 1d : 497959734 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in passive voice.
Celebrate the festival with great pomp and show:

Options:

1. « Let the festival be celebrated with great pomp and show.



2 w Let the festival celebrate with great pomp and show.

3 % The festival will be celebrated with great pomp and show.

A, % The festival should celebrate with great pomp and show.

Question Number : 128 Question Id : 497959734 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in passive voice.
Celebrate the festival with great pomp and show.

Options:

1. » Letthe festival be celebrated with great pomp and show.

2  Letthe festival celebrate with great pomp and show.

3.« The festival will be celebrated with great pomp and show.

/.« The festival should celebrate with great pomp and show.

Question Number : 129 Question Id : 497959735 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate preposition to fill in the blank.
The villager stood staring the high rise building.

Options:

1. & on

2'\-; at



3 x along

4 % across

Question Number : 129 Question Id : 497959735 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate preposition to fill in the blank.

The villager stood staring the high rise building.
Options:

T. = @i

2_ w at

3. « along

4. = across

Question Number : 130 Question Id : 497959736 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate preposition to fill in the blank.
It is not advisable to hanker money.

Options:

1. = for

? % on

3. % behind



4  after

Question Number : 130 Question Id : 497959736 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate preposition to fill in the blank.

It is not advisable to hanker money.
Options:

1. = for

2. = dn

3 % behind

4. « after

Question Number : 131 Question Id : 497959737 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate conjunction to fill in the blank.
You will not be able to reduce your weight you cut down on fats.

Options:

1. % because

? % since

3.« unless

4. w although



Question Number : 131 Question Id : 497959737 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate conjunction to fill in the blank.
You will not be able to reduce your weight you cut down on fats.

Options:

1. %= because

2. % since

3. « unless

/. « although

Question Number : 132 Question Id : 497959738 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate conjunction to fill in the blank.
Please wait I come.

Options:
1. ® while

? % unless

3. « until

A % when

Question Number : 132 Question 1d : 497959738 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate conjunction to fill in the blank.
Please wait I come.

Options:



1. = while

2. % unless

3.« until

4. % when

Question Number : 133 Question Id : 497959739 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in direct speech.
She requested her mother to hold her hand while crossing the road.

Options:
1. » She said to her mother, "Please hold your hand while crossing the road."

? w She said to my mother. "Please hold her hand while crossing the road."

3 She said, "Mother, may I hold your hand while crossing the road?"

4. » She said to her mother,"Please hold my hand while crossing the road."

Question Number : 133 Question 1d : 497959739 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in direct speech.
She requested her mother to hold her hand while crossing the road.

Options:

1. & She said to her mother, "Please hold your hand while crossing the road."



72 % She said to my mother, "Please hold her hand while crossing the road."

3. % She said, "Mother. may I hold your hand while crossing the road?"

/. She said to her mother,"Please hold my hand while crossing the road."

Question Number : 134 Question 1d : 497959740 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in direct speech.
The man asked how far the grocery store was from his office.

Options:
1. « The man said, "How far is the grocery store from my office?"

? % The man said, "How far was the grocery store from his office?"

3 x Theman said, "How much far is the grocery store from my office?"

4. % Theman said, "How far will the grocery store be from his office?"

Question Number : 134 Question Id : 497959740 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in direct speech.
The man asked how far the grocery store was from his office.

Options:

1. « Theman said, "How far is the grocery store from my office?"

2 % Theman said, "How far was the grocery store from his office?"



3. % Theman said. "How much far is the grocery store from my office?"

/. % Theman said, "How far will the grocery store be from his office?"

Question Number : 135 Question Id : 497959741 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in reported speech.

My sister said to me. "You look very pale.”

Options:
1. » My sister told me that I was looking very pale.

? % My sister told me I look very pale.

3 My sister told me that I looked very pale.

A, » My sister told I was looking very pale.

Question Number : 135 Question Id : 497959741 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in reported speech.

My sister said to me. "You look very pale.”
Options:

1. = My sister told me that I was looking very pale.

2 % My sister told me I look very pale.



3. » My sister told me that I looked very pale.

A, % My sister told I was looking very pale.

Question Number : 136 Question Id : 497959742 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in reported speech.
The old man said. "May God bless you."

Options:
1. » The old man pray that God may bless me.

2 . The old man prayed that God might bless me.

3. # The old man told to God that bless me.

4. % The old man said that God may bless you.

Question Number : 136 Question Id : 497959742 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that expresses the given sentence in reported speech.
The old man said, "May God bless you."

Options:

1. % The old man pray that God may bless me.

2  Theold man prayed that God might bless me.

3. % The old man told to God that bless me.



4. » Theold man said that God may bless you.

Question Number : 137 Question Id : 497959743 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.
PRESUME

Options:
1. » Disregard

? % Demand

3. # Doubt

4 Suppose

Question Number : 137 Question Id : 497959743 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.
PRESUME
Options:

1. « Disregard

7 % Demand

3. % Doubt

4. « Suppose



Question Number : 138 Question Id : 497959744 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.
ASSIDUQUS

Options:

1. «+ Laborious

7 % Important

3 x Complex

4] = Concise

Question Number : 138 Question Id : 497959744 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.
ASSIDUQUS

Options:

1. « Laborious

o I Important

3 % Complex

4. = Concise

Question Number : 139 Question Id : 497959745 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.
HUMILITY

Options:



1. & Pride

2 » Modesty

3 Simplicity

4 % Boldness

Question Number : 139 Question Id : 497959745 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate synonym of the given word.
HUMILITY

Options:

1. = Pride

2  Modesty

3.« Simplicity

4. % Boldness

Question Number : 140 Question Id : 497959746 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.
THRIVE
Options:

1. % Flourish



7 % Prosper

3. & Decline

4] % Succeed

Question Number : 140 Question Id : 497959746 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.
THRIVE
Options:

1. % Flourish

2 % Prosper

3« Decline

4. w Succeed

General English?
Group Number : 8
Group Id : 49795938
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0
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Question Number : 141 Question Id : 497959747 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.
SEVERE

Options:
1. = Strict

? u Easy

3. # Extreme

Question Number : 141 Question Id : 497959747 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.
SEVERE

Options:

1. % Strict



3. « Extreme

4. v Mild

Question Number : 142 Question 1d : 497959748 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.
PUNISHMENT

Options:
1. + Reward

? % Promotion

3. # Freedom

4 % Penance

Question Number : 142 Question 1d : 497959748 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate ANTONYM of the given word.
PUNISHMENT

Options:

1. v Reward

7 % Promotion



3 % Freedom

4. » Penance

Question Number : 143 Question Id : 497959749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate meaning of the following idiom.
Behind one's back

Options:
1. % Inthe prison

? « Insomeone's absence

3. = To follow someone

4. % To chase someone

Question Number : 143 Question Id : 497959749 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate meaning of the following idiom.
Behind one's back

Options:
1. % Inthe prison

2_ + In someone’s absence

3. % To follow someone



4. = Tochase someone

Question Number : 144 Question Id : 497959750 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate meaning of the following idiom.
At a stretch

Options:
1. # To work very hard

2 Todo something continuously

3 % Toexpand something

4. » Tobevery far

Question Number : 144 Question Id : 497959750 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate meaning of the following idiom.
At a stretch

Options:

1. % Towork very hard

2 » Todo something continuously

3.« Toexpand something

4. « Tobevery far



Question Number : 145 Question Id : 497959751 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate meaning of the following idiom.
At the eleventh hour

Options:
1. » Atmidnight

2 w Atthe right moment

3« Atthe last moment

4. » Inthe beginning

Question Number : 145 Question Id : 497959751 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate meaning of the following idiom.
At the eleventh hour

Options:
1. % Atmidnight

2 % Atthe right moment

3. « At the last moment

4. » Inthe beginning

Question Number : 146 Question Id : 497959752 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for the given group of words.
The life history of a person written by self

Options:



1. » Biography

2 . Autobiography

3 Bibliography

4. » Sonography

Question Number : 146 Question Id : 497959752 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for the given group of words.
The life history of a person written by self

Options:

1. = Biography

2 » Autobiography

3. « Bibliography

/.« Sonography

Question Number : 147 Question 1d : 497959753 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for the given group of words.
One who cannot read or write
Options:

1. & Literate



? « llliterate

3 » Ignorant

4 = Novice

Question Number : 147 Question Id : 497959753 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for the given group of words.
One who cannot read or write
Options:

1. % Literate

2.« [Illiterate

3. = Ignorant

4. w Novice

Question Number : 148 Question Id : 497959754 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for the given group of words.
Something no longer in use

Options:
1. » Dilapidated

? # Ancient



3. « Obsolete

4] % Remote

Question Number : 148 Question Id : 497959754 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that can be used as a one-word substitute for the given group of words.
Something no longer in use

Options:
1. « Dilapidated

7. % Ancient

3« Obsolete

4. % Remote

Question Number : 149 Question Id : 497959755 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correctly spelt word.
Options:

1. & Percieve

? « Persuade

3. # Particuler



4 % Patner

Question Number : 149 Question Id : 497959755 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correctly spelt word.

Options:

1. % Percieve

7 Persuade

3w Particuler

4. = Patner

Question Number : 150 Question Id : 497959756 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the correctly spelt word.
Options:

1. » Rhythem

¢ 8 Rytham

&

3 % Rythem

1. » Rhythm

Question Number : 150 Question Id : 497959756 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the correctly spelt word.
Options:
1. % Rhythem

2 % Rytham
3. % Rythem
4. « Rhythm

Question Number : 151 Question Id : 497959757 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate phrase to fill in the blank.

The gardener warned the children to the grass.
Options:

1. » keepaway

2 % keepon

3 o keepoff

A % keepup

Question Number : 151 Question Id : 497959757 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate phrase to fill in the blank.

The gardener warned the children to the grass.

Options:



1. = keepaway

2 % keepon

3. keepoff

4. = keepup

Question Number : 152 Question Id : 497959758 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate phrase to fill in the blank.
The sick man by virtue of his strong will power.

Options:

1. » pulled off

2 % pulled back

3 » pulledup

4.  pulled through

Question Number : 152 Question 1d : 497959758 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the most appropriate phrase to fill in the blank.
The sick man by virtue of his strong will power.
Options:

1. & pulledoff



2 % pulled back

3. % pulledup

/. pulled through

Question Number : 153 Question 1d : 497959759 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given options.
Options:
1. » Neither the parents nor the child were allowed to enter the Principal's room.

? . Neither the parents nor the child was allowed to enter the Principal's room.

3 u Neither the parents was allowed to enter the Principal's room nor the child.

/. % Neither the parents were allowed nor the child to enter the Principal's room.

Question Number : 153 Question Id : 497959759 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given options.
Options:

1. « Neither the parents nor the child were allowed to enter the Principal's room.

2 Neither the parents nor the child was allowed to enter the Principal's room.



3 % Neither the parents was allowed to enter the Principal's room nor the child.

/.« Neither the parents were allowed nor the child to enter the Principal's room.

Question Number : 154 Question Id : 497959760 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given options.
Options:
1. » The entrance exam was much simple than I had thought it to be.

? . The entrance exam was much simpler than I had thought it to be.

3 % The entrance exam was most simple than I had thought it to be.

/. % The entrance exam was more simpler than [ had thought it to be.

Question Number : 154 Question Id : 497959760 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given options.
Options:

1. % The entrance exam was much simple than I had thought it to be.

2 » Theentrance exam was much simpler than I had thought it to be.

3. « Theentrance exam was most simple than I had thought it to be.



4. » The entrance exam was more simpler than I had thought it to be.

Question Number : 155 Question Id : 497959761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given options.
Options:
1. « Youmuststart early otherwise you will not be able to reach before sunset.

? % Youmust be starting early otherwise you will not be reaching before sunset.

3 x Youmuststart early lest you will not be able to reach before sunset.

/. » Youmust start early so that you will not be able to reach before sunset.

Question Number : 155 Question 1d : 497959761 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the grammatically correct sentence from the given options.
Options:

1. « Youmust start early otherwise you will not be able to reach before sunset.

2« Youmust be starting early otherwise you will not be reaching before sunset.

3. % Youmust start early lest you will not be able to reach before sunset.

/.« Youmust start early so that you will not be able to reach before sunset.



Sub-Section Number: 2
Sub-Section 1d: 49795945
Question Shuffling Allowed : Yes

Question Id : 497959762 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension

Read the following passage and answer the question.

There are four basic stages that human beings pass through when they
enter and live in a new culture. The first stage begins when we arrive ina
new culture and find everything thrilling and exciting. We may be
suffering from jet lag but our excitement is high at discovering new
sights, new sounds and language, eating new kinds of food served very
differently and breathing new air! This honeymoon phase can last for a
long time as we feel ourselves to be in some kind of great adventure.
Unfortunately. the culture shock sets in during the second phase which
may be more difficult. After we have settled down in our new life,
working or studying, buying groceries, doing laundry, we can become
very tired and begin to miss our family, friends and pets. Suddenly, the
everyday problems also appear bigger and more disturbing in a foreign
culture. This period of cultural adjustment can be quite difficult and may
lead to rejecting or pulling away from the foreign culture. This stage may
be quite dangerous because one may develop stress leading to unhealthy
habits of smoking or drinking. Thus, this stage is considered a crisis in
the process of cultural adjustment and many choose to return to their
homeland or spend all their time with people from their own culture
speaking their native language.

The third stage is called the 'adjustment stage'.This is when you realise
that things are not so bad in the host culture. You learn to accept things
more openly and learn to take care of yourself. Things are still difficult
but you are now a survivor!

The fourth stage may be called 'ease at last'. Now you feel quite
comfortable in your new surroundings. You can cope with most of your
problems. Although the langauage problem persists, you have learnt how
to deal with it. If you meet someone from your country who has just
arrived, you can guide him like an expert on life in the new culture and
help him to deal with the culture shock.

Interestingly. there is another stage called the 'reverse culture shock’
which many people do not know about. This occurs when you go back to
your native culture and find that you have changed and things there have
changed too while you were away. Now, you feel slightly uncomfortable
back home and wish to return to the new culture. Life's like that!

Sub questions

Question Number : 156 Question 1d : 497959763 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
Why is the first phase referred to as the honeymoon phase?

Options:
1. » Itis full of anxiety at leaving the native place.

? . Thereis fun and excitement at making a new beginning.

3 Itisaperiod of relaxation and no work.

4. » There are no responsibilities or restraints of any kind.

Question Number : 157 Question Id : 497959764 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Which of these CANNOT be attributed to the crisis stage?
Options:
1. » Restricting social contact with people from native culture

? w Extreme stress and anxiety leading to unhealthy habits

3 w Complete rejection of the new culture

4. » Afeeling of comfort and ease in the new surroundings

Question Number : 158 Question Id : 497959765 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What quality can make one a survivor in a new culture?
Options:

1. # Excitement



2 w Compassion

3.« Perseverance

4 % Communication

Question Number : 159 Question Id : 497959766 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

You can guide newcomers as an expert because you have:
Options:
1. « experienced similar problems

2 y trained yourself hard as one

3 the skills which they lack

A = the inclination to show off

Question Number : 160 Question Id : 497959767 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these statements is NOT true?
Options:
One may feel uncomfortable back home after staying in a
1. » foreign culture.

One misses family and friends after settling down to a tiring
2 w daily routine.

3  Allwho are in the crisis phase return to their homeland.



One learns to handle situations as one adjusts to the new
4. s« culture.

Question Id : 497959762 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension

Read the following passage and answer the question.

There are four basic stages that human beings pass through when they
enter and live in a new culture. The first stage begins when we arrive ina
new culture and find everything thrilling and exciting. We may be
suffering from jet lag but our excitement is high at discovering new
sights, new sounds and language, eating new kinds of food served very
differently and breathing new air! This honeymoon phase can last for a
long time as we feel ourselves to be in some kind of great adventure.
Unfortunately. the culture shock sets in during the second phase which
may be more difficult. After we have settled down in our new life.
working or studying, buying groceries, doing laundry, we can become
very tired and begin to miss our family. friends and pets. Suddenly. the
everyday problems also appear bigger and more disturbing in a foreign
culture. This period of cultural adjustment can be quite difficult and may
lead to rejecting or pulling away from the foreign culture. This stage may
be quite dangerous because one may develop stress leading to unhealthy
habits of smoking or drinking. Thus, this stage 1s considered a crisis in
the process of cultural adjustment and many choose to return to their
homeland or spend all their time with people from their own culture
speaking their native language.

The third stage is called the 'adjustment stage'.This is when you realise
that things are not so bad in the host culture. You learn to accept things
more openly and learn to take care of yourself. Things are still difficult
but you are now a survivor!

The fourth stage may be called 'ease at last'. Now you feel quite
comfortable in your new surroundings. You can cope with most of your
problems. Although the langauage problem persists, vou have learnt how
to deal with it. If you meet someone from your country who has just
arrived, you can guide him like an expert on life in the new culture and
help him to deal with the culture shock.

Interestingly. there is another stage called the 'reverse culture shock’
which many people do not know about. This occurs when you go back to
your native culture and find that you have changed and things there have
changed too while you were away. Now, vou feel slightly uncomfortable
back home and wish to return to the new culture. Life's like that!



Sub questions

Question Number : 156 Question Id : 497959763 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why is the first phase referred to as the honeymoon phase?
Options:

1. « Itisfull of anxiety at leaving the native place.

2 Thereis fun and excitement at making a new beginning.

3. « [Itisaperiod of relaxation and no work.

/.« There are no responsibilities or restraints of any kind.

Question Number : 157 Question Id : 497959764 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these CANNOT be attributed to the crisis stage?
Options:

1. =« Restricting social contact with people from native culture

72 x Extreme stress and anxiety leading to unhealthy habits

3. & Complete rejection of the new culture

4. Afeeling of comfort and ease in the new surroundings

Question Number : 158 Question 1d : 497959765 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



‘What quality can make one a survivor in a new culture?

Options:

1. = Excitement

2 % Compassion

3 Perseverance

4. w Communication

Question Number : 159 Question Id : 497959766 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

You can guide newcomers as an expert because you have:
Options:

1. » experienced similar problems

2 trained yourself hard as one

3w theskills which they lack

4. = theinclination to show off

Question Number : 160 Question Id : 497959767 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these statements is NOT true?
Options:



One may feel uncomfortable back home after staying in a

1. « foreign culture.

One misses family and friends after settling down to a tiring

2 & daily routine.

3. Allwho are in the crisis phase return to their homeland.

One learns to handle situations as one adjusts to the new

4. = culture.
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Sub-Section Id: 49795946
Question Shuffling Allowed : Yes

Question Id : 497959768 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (161 to 165)

(Question Label : Comprehension
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Sub questions

Question Number : 161 Question Id : 497959769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ey F g ek fr a9 w2

Options:

3 = ez Fifa



Question Number : 162 Question 1d : 497959770 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HaEAT & AT g T 1T &

Options:

1 » Taear § SRaa= g
0 % TGS FT FHET FAT
3 o TG HT AU ElA

4 » WIEAT FH T

Question Number : 163 Question Id : 497959771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TETA H THET F 3T &
Options:
1 = {-ta{siid Sl

2.Jﬁ?m

9 FEcAUl HEa
A, % I ST

Question Number : 164 Question Id : 497959772 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 165 Question Id : 497959773 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39eRI0T T HY 2
Options:
1. v :E_:I'

Question Id : 497959768 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (161 to 165)

Question Label : Comprehension
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Sub questions

Question Number : 161 Question Id : 497959769 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ey F g R fr a9 w2
Options:

1. » &R Hd

o ® 9T I

Question Number : 162 Question 1d : 497959770 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

TIgAT & AT 8 FT 1T &

Options:

1« ®agaT # 9Raas g@=r

2« TAGT F FATET FAT

3. » TIEAT H IIF g

4, » VG FT aEA

Question Number : 163 Question Id : 497959771 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T H THET F HY E

Options:
1. = HETd HdAT
. e

2JE§§|T—TEE?IT

L
3. % ApcadHV] sl

Question Number : 164 Question Id : 497959772 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT F IF o7 1 Afgared = 22

Options:




1 x FIE & FAGASTAT H TElead
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2 & 3EA H FEead)
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Question Number : 165 Question Id : 497959773 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39eRI0T T HY 2

Options:
1. v T

2. = &
3. » FER
A = it

Sub-Section Number: 2
Sub-Section 1d: 49795947
Question Shuffling Allowed : Yes

Question Number : 166 Question Id : 497959774 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



e & O T @ u= 957 272

Options:

1. &« =%

Question Number : 166 Question Id : 497959774 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

G- g g o i o - i

Options:

1 . ®  Heh
2w Tog
3 ¢ =T

Question Number : 167 Question Id : 497959775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & ¥ FiF TT A= 95T A6 87

Options:
1. « 52



2
#®
4

3 = =

4. = T

Question Number : 167 Question Id : 497959775 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o & ¥ #1777 =g I5a 781 &7

Options:
1. v ¥
2 % W
3. = E
A« HIET

Question Number : 168 Question Id : 497959776 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 8 &9 I o 87 &7

Options:

1ﬂ¥

2. v Ged



Question Number : 168 Question 1d : 497959776 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T J O 7 31 o I EE B

Options:

1. = &

2. v T

Question Number : 169 Question Id : 497959777 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 O FiF I e ImH 78 g7

Options:

1. & &HA



4, v &

Question Number : 169 Question Id : 497959777 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T # O FiF I e ITF A8 &7

Options:

1. » &=
2 w T
3w TAA

4, v T

Question Number : 170 Question Id : 497959778 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e & & o o &iF @1 22

Options:

1, v T

4, I

Question Number : 170 Question Id : 497959778 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



o & ST 9EE BT T 82

Options:
1. v T
2. % GET
3. x oA
4. & 32

Question Number : 171 Question Id : 497959779 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o 7 O 32l e i 71 87

Options:

1. = A=

Question Number : 171 Question Id : 497959779 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 ¥ el oeg FiF T 87

Options:

1. = 3&H



2\_;341'@79_{

3_3@.}'!1?4'
4; = =L

Question Number : 172 Question 1d : 497959780 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A aFa U< Ja=ir JTel e FiT HT 872

Options:
1.« TR

7w WA

3J3‘W—f|?f

A % 3FOT

Question Number : 172 Question Id : 497959780 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FFt & @ o= Fa arer oeg Fa @ 2

Options:
1. » TR

2_&3—1?|'|Tﬁ'



3. v HIA

Question Number : 173 Question Id : 497959781 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Heed-3ed UeE-FIH T T 7Y &

Options:

1, » T
7 fere-T
3 % GHT-HATSA

4 v FHATA-gH T

Question Number : 173 Question Id : 497959781 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Heed-3ed UE-FIH F T 7Y g

Options:

1, » HHEEE

3, PR



4 v HATH-GHIT

Question Number : 174 Question Id : 497959782 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FT F YT ALl 21T

Options:

1. v &3

Question Number : 174 Question 1d : 497959782 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HT F Y ALl g

Options:

1. v =0
2 = o
3w [ET4ul

Question Number : 175 Question Id : 497959783 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



‘T H UeT Bl 9T & T U oreg B

Options:

1. » ¢

Question Number : 175 Question 1d : 497959783 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘T 7 YT B Iem F T U o= BN M

options:
1. » ¥
> & R
3 v FHad
4 x SR

Question Number : 176 Question Id : 497959784 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR FE TR HT FAT FT ISEIOT 272

Options:



o
? & CATFAT=R

Question Number : 176 Question Id : 497959784 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR FE TR HT FAT FT ISEIOT 272

Options:

1_&:@3[1'%3"!?13-7

[
7 chleddrden

Question Number : 177 Question Id : 497959785 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s 7 ¥ mAa=s g9aw S @ 2
Options:

1 = &



4, » =

Question Number : 177 Question Id : 497959785 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o/ § ¥ Ted9=s §aa1F #i9 T 22

Options:
1« #
2. = 2
3. & XM
4, v =4

Question Number : 178 Question Id : 497959786 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T FE TR @ FeweT 27

Options:



Question Number : 178 Question Id : 497959786 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T gER & Fewor §7?

Options:

SJW
4_%%@%

Question Number : 179 Question Id : 497959787 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TMET =T’ I H T T 27

Options:

1,J3']T=|'ﬁff7=F

Question Number : 179 Question 1d : 497959787 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



FMET =TT’ I H/ RET A 27

Options:

1,_,,—*3-13-?-‘!3-7

Question Number : 180 Question Id : 497959788 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TH ez =ee 2 IT # @ifeg Hr F41 27
Options:
1. » ®=U

4. » TFar faewor

Question Number : 180 Question 1d : 497959788 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TH iz T 2’ 9T H [@ifed 3T &7 27

Options:




4d. IETIREEIL 1

General Hindi2

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:

IsthisGroup for Examiner?:
Revisit allowed for group Instructions? :
Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Sub-Section Number:
Sub-Section | d:

Question Shuffling Allowed :

10
49795940
0
120
No
No
0
20
No
Yes
0

0

General Hindi2

49795940
1

Online
Mandatory
20

20

20

1
49795948
Yes



Question Number : 181 Question Id : 497959789 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tearsary & #io-fa=og gem:

Options:

1. » ToEIT +

Z.Jﬁa;m+3ﬁ:am

q [ + g

4 TEeImE + W

Question Number : 181 Question 1d : 497959789 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Toegsar® & ®ig-fT=oe gem:

Options:

1.« foc@m + suma

Question Number : 182 Question 1d : 497959790 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TTeTaT H Hid T FAH 872

Options:




Question Number : 182 Question Id : 497959790 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TE@R H HiF T1 AT g7

Options:
1. » 5
D, « &

Question Number : 183 Question 1d : 497959791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘mfﬁﬁmmﬁmmg}n#
Options:
1. &



Question Number : 183 Question Id : 497959791 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘mrﬁﬁmmﬁwmgm%?
Options:

1. =

Question Number : 184 Question Id : 497959792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘A F 9 geaw = g3 g3 g7
Options:

2,3@@?



Question Number : 184 Question Id : 497959792 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘mﬂm’ﬁmmmqﬂwgm%?

Options:
1. = #H=
2 « [
3. % &
4. v T

Question Number : 185 Question Id : 497959793 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T # ¥ FiF I e =T 27

Options:
1. » =9

? v "dd



Question Number : 185 Question Id : 497959793 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 7 ¥ *iF ar aeg =T 82

Options:
1. = =99
2, v =4
3. = 8
4, = 8

Question Number : 186 Question Id : 497959794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘9T & FAH a9y Teago FT IS0 872

Options:

1. « TAT Tea=T

7 o EOWOT SEEey

3 « TaAH TgEeY

A » TRfaewor gy

Question Number : 186 Question 1d : 497959794 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



‘O & A Toad [T TeT T IS0 27

Options:

1. » G« 9gawd

2 TIANOT 9gEeY

3. « TaAH TEEY

4. » TroifEeor ggaey

Question Number : 187 Question Id : 497959795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Aed & a1 &F & @@’ g & # @Fer &y 998 & 3997 87
Options:
1. v T 3TEET

7« T SUaeT

3 » faowur sgaeT

A « TEfaeyor sqEmeT

Question Number : 187 Question Id : 497959795 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AEd & Fgl & & @F a7 § ‘H @0 FF 9T # 3997 27

Options:

1. v T 39




A« THofEewor 39T

Question Number : 188 Question 1d : 497959796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HY F HJAR FI W TFT F G AG 27
Options:
1. &« HTAT I

2 x WE aTEH

3 7 Hgﬁi"d CIEES
A « TFT I=H

Question Number : 188 Question Id : 497959796 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HY F FFAR FiA G TFT F A Aol 87

Options:

1. = 3T=T a9

D, « U TH



3_ & \Hﬂﬂ'ﬁ si=ieh

4 = Tohd I

Question Number : 189 Question Id : 497959797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TH O T 50 IR F T g7
Options:
1. = 39T

2« Ty am

3 % Hgﬂ'd CIESY
4'\_/ Hiel diad

Question Number : 189 Question Id : 497959797 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TH O T W woR F e g2
Options:

1. &« 3990




4 » TIA THT

Question Number : 190 Question Id : 497959798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR W FEl g7 (%8 TR F a7 g7

Options:

=™
A o« TEEHEAAS

Question Number : 190 Question Id : 497959798 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TFENT WX FEl g7 8 TR & Ay g7
Options:

1 « SeoEEH

7w Y9I

3. « Wegara®

 —
4. « TESEATETES

Question Number : 191 Question Id : 497959799 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
USshA HI T H i AT I %_;E%‘?

Options:

9 x o= gtz g e

3 o R 3= s B

4. » T a= & s

Question Number : 191 Question Id : 497959799 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UgsHH FT T ¥ FHiF T I %F%‘?

Options:

1. = zar gizdr & a1

2« o gl g feEm

3. » Tz a= gz B

4, = feemr a=r ¢ &l

Question Number : 192 Question 1d : 497959800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 7 @ i @1 T 9= 87

Options:




1 v M & TEAF T30
9 i IR TETH T

3 mngﬁﬂ:qﬁrl

4. % SARM T&dsh TeTl

Question Number : 192 Question Id : 497959800 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 7 @ 7 @ 3T = §7

Options:

1 v 3T JEH IS

5 mnﬁrgﬁ%%‘rl

% . mnwt@rl

A« FRT TETE

Question Number : 193 Question Id : 497959801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘TS’ T TIIETET &

Options:

1. = @Rar



4, v TR

Question Number : 193 Question Id : 497959801 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TS FT GATISTET ¢

Options:

2_&@
3. = H=

Question Number : 194 Question Id : 497959802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘THER fFger gugar= 87
Options:
1. & =T



Question Number : 194 Question Id : 497959802 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘gAY g gagEET 27

Options:
1. = 5
2. v 3
3. » 3
4, = fa=er

Question Number : 195 Question Id : 497959803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T TAGATET A g
Options:



Question Number : 195 Question Id : 497959803 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

oy o

Options:

1. v &=
2. & X
3, « T
4, « T

Question Number : 196 Question Id : 497959804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

R TrEer saEaEr 87
Options:
1. = so1

Question Number : 196 Question Id : 497959804 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



R FFEewr ggEEET 87

Options:

1. = @mor

2. % T

Question Number : 197 Question Id : 497959805 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ATl 1 faenH gem

Options:

Question Number : 197 Question Id : 497959805 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ATl 1 faenH gem

Options:



3, = 99
4. » IO=S

Question Number : 198 Question Id : 497959806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘e’ & A g

Options:

? & 3

Question Number : 198 Question Id : 497959806 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘e’ & A g

Options:

1. = RS



Question Number : 199 Question Id : 497959807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FIHET FT SAH g
Options:

1. v FR

Question Number : 199 Question Id : 497959807 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘FIHET FT SAH g
Options:

1. v BN



4. x e

Question Number : 200 Question Id : 497959808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘= &1 TErHE gem

Options:

Question Number : 200 Question Id : 497959808 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HS' F THH e
Options:
1. = o

2_&3—1?:(@?-!?-!'

3. v I






